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(6) gm‘mÝ` {dkmZ (2)
7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
8) Cn ẁº$ Am{U hmZrH$maH$ àmUr
9) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZñnVtMo earaemó
10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó
11) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ
13) noer{dkmZ d M¶mnM¶Z

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

2022 gmbmVrb E‘nrEggr narjmVrb gm‘mÝ¶ {dkmZ KQ>H$mdarb àíZg§J«h
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(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3) àm{Uemó (Pycm°Or)
4) dZñn{Vemó (~m°Q>Zr)
5) H¥$fr / eoVrg§b¾ {dkmZ
6) Amamo½¶emó (hm¶OrZ)
7) {dkmZ Am{U V§ÌkmZ

1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
3) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
6) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
8) Cn ẁº$ Am{U hmZrH$maH$ àmUr
9) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó
11) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ,
12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ
13) noer{dkmZ d M¶mnM¶Z
14) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
15) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
16) Am¡fYo Am{U bgr
17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo
18) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
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2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5) eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
85) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

‘m{hVr d g§àofU V§ÌkmZ
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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 gm‘mÝ` {dkmZmda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
5) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
6) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
7) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
8) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
9) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
10) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
11) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
12) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
13) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
14) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
15) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
16) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
17) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
18) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
19) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
20) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
21) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
22) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
23) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
24) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
25) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
26) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
27) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
28) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
29) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
30) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
31) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
32) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
33) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
34) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
35) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
36) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
37) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
38) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
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39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2022
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ

gm‘mÝ` {dkmZ {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m

2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5) eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
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(7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
1) àmÊ`m§Mo dJuH$aU
2) Am{XOrd, ñn§O, Obì¶mb àmUr
3) MnQ>H¥$‘r, JmobH¥$‘r, db¶m§{H$V àmUr
4) g§YrnmX, ‘¥XþH$m¶, H§$Q>H$sM‘u, AY©n¥ð>d§er¶ àmUr
5) ‘Ëñ¶dJ©, C^¶Ma, garg¥n
6) njr, gñVZ àmUr
7) àmÊ¶m§Mo eara d M¶mnM¶Z

1) àmÊ`m§Mo dJuH$aU
1) àmUrdJuH$aUmgmR>r Imbrbn¡H$s H$moUVr nm¶ar dmnabr OmVo ?

1) àOmVr → OmV → Am°S>©a → dJ© → Hw$i → g§K → g¥ï>r
2) g¥ï>r → OmV → Am°S>©a → àOmVr → g§K → dJ© → Hw$i
3) OmV → àOmVr → g§K → dJ© → Am°S>©a → Hw$i → g¥ï>r
4) g¥ï>r → g§K → dJ© → Am°S>©a → Hw$i → OmV → àOmVr

1) Which steps of taxons are followed for classification of animals?

1) Species → Genus → Order → Class → Family → Phylum → Kingdom

2) Kingdom → Genus → Order → Species → Phylum → Class → Family

3) Genus → Species → Phylum → Class → Order → Family → Kingdom

4) Kingdom → Phylum → Class → Order → Family → Genus → Species

2) Imbrb Owidm :
 JQ> "A'      JQ> "~'
a) dmoamo{ZZ I) Zo‘mQ>moS>
b) ZrS>h°‘ II) àmoQ>moPmoAmZ ‘m`Šgmo‘m`goQ²g
c) ~rOo[a¨H$ III) {OdmUy
d) ~w[ab IV) {dfmUy
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) I II III IV

2) IV Ill II I

3) II I IV III

4) III IV I II

2) Match the following :

 Group ‘A’     Group ‘B’

a) Woronin I) Nematode

b) Needham II) Protozoan Myxomycetes

c) Beijerinck III) Bacteria

d) Burrill IV) Virus
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Answer options :

(a) (b) (c) (d)

1) I II III IV

2) IV Ill II I

3) II I IV III

4) III IV I II

3)  ¶mo½¶ OmoS>çm bmdm :
 JQ> 'A'     JQ> 'B'
a) g°c°‘°ÊS>a i) erVaº$s
b) ~XH$MmoMm ii) g°Ý½drdmoag
c) Oiy iii) Ag‘{‘V
d) n°am‘o{e`‘ iv) A§S>O gñVZ àmUr
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) ii i iii iv

2) i iv ii iii

3) i ii iv iii

4) ii iv i iii

3) Match the following :

Group ‘A’       Group ‘B’

a) Salamander i) Poikilothermic

b) Duckbilled Platypus ii) Sanguivorous

c) Leech ‘ iii) Asymmetrical

d) Paramecium iv) Egg laying mammal

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (iv) (ii) (iii)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (i) (iii)

2) Am{XOrd, ñn§O, Obì¶mb àmUr
1) A‘r~m hm àmoQ>moPwAZ àmUr Amho. H$maU -

A) EH$ noer¶ àmUr Á¶m‘Ü¶o CVr Am{U Ad¶d ZmhrV.
~) gd© àmÊ¶m§‘Ü¶o àmMrZ d gm‘mÝ¶ àmUr.
H$) N>X²‘nmXmMm dmna hmbmMmbrgmR>r H$aVmo.
S>) A§Jmda {N>Ðo Agbobm àmUr.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ A Am{U H$ 3) ’$º$ A, ~ Am{U H$ 4) ’$º$ H$ Am{U S>
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1) Amoeba is a protozoan animal because

a) it is a cellular animal without tissues and organs.

b) it is the simplest and most primitive of all animals.

c) pseudopodia is present for locomotion.

d) it is a pore-bearing animal.

Which of the statement/s given above is/are correct ?

1) Only a 2) Only a and c 3) Only a, b and c 4) Only c and d

2) Am°ao{b¶mÀ¶m bmadb ñQ>oOMm Imbrbn¡H$s ¶mo½¶ H«$‘ H$moUVm?
1) ßbmÝ¶wbm, hm¶S´>mQ>çw~m, gm¶{nñQ>mo‘m, B©{’$am
2) ßbmÝ¶wbm, B©{’$am, gm¶{’$ñQ>mo‘m, B©{’$am
3) gm¶{’$ñQ>mo‘m, ßbmÝ¶wbm, hm¶S´>mQ>çw~m, B©{’$am
4) hm¶S´>mQ>çw~m, B©{’$am, ßbmÝ¶wbm, gm¶{’$ñQ>mo‘m

2) Which one of the following is the correct sequence of larval stages of Aurelia ?

1) Planula, Hydratuba, Scyphistoma, Ephyra

2) Planula, Ephyra, Scyphistoma, Hydratuba

3) Scyphistoma, Planula, Hydratuba, Ephyra

4) Hydratuba, Ephyra, Planula, Scyphistoma

3) Imbrbn¡H$s H$moUË¶m eVvMm g§M Amo~o{b¶mbm gdm}Îm‘nUo bmJy hmoVmo?
1) nm°{b‘m°{’©$H$, H$mobmo{Z¶b, A°¹°${Q>H$
2) ‘arZ, {gS>oÝQ>ar Am{U H$mobmo{Z¶b
3) ‘arZ, {gS>oÝQ>ar, nm°{b‘m°{’©$H$
4) ‘arZ, {gS>oÝQ>ar, H$mobmo{Z¶b, nm°{b‘m°{’©$H$ {dW Q¯> AëQ>aZoeZ Am°’$ OZaoeZ

4) Which of the following set of terms is best applicable to Obelia ?

1) Polymorphic, Colonial, Aquatic

2) Marine, Sedentary and Colonial

3) Marine, Sedentary, Polymorphic

4) Marine, Sedentary, Colonial, Polymorphic with true alternation of generation

3) MnQ>H¥$‘r, JmobH¥$‘r, db¶m§{H$V àmUr
1) noarn°Q>g‘Ü¶o nm¶mÀ¶m {H$Vr OmoS>çm AgVmV?

1) 10-15 OmoS>çm 2) 10-20 OmoS>çm 3) 14-43 OmoS>çm 4) 15-40 OmoS>çm
2) The number of legs found in Peripatus is

1) 10 - 15 pairs 2) 10 - 20 pairs 3) 14 - 43 pairs 4) 15 - 40 pairs

4) g§YrnmX, ‘¥XþH$m¶, H§$Q>H$sM‘u, AY©n¥ð>d§er¶ àmUr
1) PwaimMo 'noarßbmZoQ>m' ho OoZo[aH$ Zmd H$moUr R>odbo?

1) {b{ZAg (1758) 2) S>r ~ra (1973)
3) ~wa‘o[añQ>a (1838) 4) ~|W‘ (1664)

1) Generic name of cockroach ’Periplaneta’ was assigned by :

1) Linnaeus (1758) 2) De Beer (1973)

3) Burmerister (1838) 4) Bentham (1664)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 28

For Private Circulation Only

2) àmUr g¥îQ>rVrb gdm©V ‘moR>m Am{U gdm©V `eñdr àOmVr JQ> H$moUVm Amho?
1) AmW«m}nm°S²g 2) ‘mobwñH$m 3) E°Zo{bS>m 4) {gboZQ>oamQ>m

2) Which phylum is the largest and most successful group of animal kingdom ?

1) Arthropods 2) Mollusca 3) Annelida 4) Coelenterata

3) {damMmobm Am`gmoH«o$Q²g gm‘mÝ`V… ...... åhUyZ AmoiIbo OmVo.
1) qb~y ’w$bnmIê$ 2) S>mqi~ ’w$bnmIê$
3) ’«y$Q> âbm` 4) gm`bm

3) Virachola isocrates is commonly known as ......

1) Lemon butterfly 2) Pomegranate butterfly

3) Fruit fly 4) Psylla

4) ñH$mam~oB©’$m°‘© Aù`m ............ ¶m àmUr JQ>mV( order) AmT>iVmV.
1) AmoS>moZmQ>m 2) H$mo{bAmoßQ>oam 3) {S>ßQ>oam 4) bo{nS>moßQ>oam

4)  Scarabaeiform larvae are found in order ............

1) Odonata 2) Coleoptera 3) Diptera 4) Lepidoptera

5) ‘Ëñ¶dJ©, C^¶Ma, garg¥n
1) Imbrbn¡H$s H$moUVm ‘mgm Am°ñQ>rH$WmB©O dJm©Vrb Amho ?

1) emH©$ 2) pñQ>§J ao 3) H$Q>bm 4) BcopŠQ´H$ ao
1) Which of the following fish belongs to class Osteichthyes ?

1) Shack 2) Sting ray 3) Catla 4) Electric ray

2) ‘Ëñ¶ Cng§dJm©Vrb H$moUVm ‘mgm ObX ObVaUnQy> Am{U pìhpìh{nag Amho?
1) {M‘oam 2) amohÿ 3) ñH$mo{bAmoS>m°Z 4) {gëìha {’$e

2) Inclass Pisces which fish is fast swimmer and viviparous ?

1) Chimaera 2) Rohu 3) Scoliodon 4) Silver Fish

3) Imbrbn¡H$s H$moUVm/H$moUË¶m àmUr/àmÊ¶m§Mm g‘yh ho ganQ>Umao àmUr ¶m dJm©V ‘moS>VmV?
a) nmb, gmn, ~oSy>H$ Am{U bmoarg b) H$mgd, KS>r¶mb, H°$‘oZ Am{U Q>m°Q>¶mam
c) H$mgd, ‘Ja, g°bo‘|S>a Am{U nmb d) g°bo‘|S>a, gaS>m, H$mgd Am{U ~oSy>H$
n¶m©¶r CÎmao …
1) ’$º$ (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) darbn¡H$s gd©

3) Which of the following is/are group / groups of reptilian animals ?

a) Lizard, Snake, Frog and Loris b) Turtle, Gharial, Caiman and Tuatara

c) Turtle, Crocodile, Salamander and Lizard d) Salamander, Catotes, Turtle and Frog

Answer Options :

1) Only (b) 2) Only (b) & (c) 3) Only (c) & (d) 4) All of the above

4) Imbrbn¡H$s H$moUË¶m àmUr g‘whmZo / g‘whm§Zr àW‘V… O{‘Zrda OrdZmMm Adb§~ Ho$bm?
A) ganQ>Umao àmUr ~) C^¶Ma àmUr H$) gñVZ àmUr S>) njr (CS>Umao àmUr)
n¶m©¶r CÎmao …
1) ’$º$ H$ Am{U S> 2) ’$º$ ~ Am{U S> 3) ’$º$ A 4) ’$º$ ~
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4) Which of the following animal group/groups was/were the first vertebrate to become adapted to

life on land ?

a) Reptilians b) Amphibians c) Mammals d) Aves

Answer Options :

1) Only c and d 2) Only b and d 3) Only a 4) Only b

6) njr, gñVZ àmUr
1) ganQ>Umao àmUr Am{U gñVZ àmUr `m§À`mVrb Xwdm åhUyZ Imbrbn¡H$s H$moUË`m àmÊ`mbm {’$bmoOoZo{Q>H$ ‘hÎd Amho?

1) H$m§Jmê$ 2) Echidna 3) Sorex 4) ggm
1) Which of the following animals has phylogenetic significance, as it serves a link between reptiles

and mammals ?

1) Kangaroo 2) Echidna 3) Sorex 4) Rabbit

2) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
 dÝ` àmUr  d¡km{ZH$ Zmd
A) qMH$mam i) Q>oQ´mgoag ¹$m{S´H$m°{Z©g
~) H$mim haU ii) J°Po{b`m ~oZoQ>r
H$) Mm¡qgJm iii) ~mogobm’$g Q́°JmoH°$‘bg
S>) ãby ~wb iii) A±{Q>bmon g{d©H$màm
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

2) Match the pairs :

Wild animals  Scientific name

a) Chinkara i) Tetracerus quadricornis

b) Black Buck ii) Gazelia bennetti

c) Chowsingha iii) Boselaphus tragocamelus

d) Blue Bull iv) Antilope cervicapra

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iii) (iv) (ii) (i)

3) Imbrbn¡H$s H$moUVr OmoS>r/OmoS>çm dÝ¶àmÊ¶m§Mr Zmdo Am{U d¡km{ZH$ Zmdo ¶m g§X^m©V ~amo~a Amho/AmhoV?
A) Am{e¶m¶r qgh - n±ÝWoam {bAmo nagrH$m
~) nÅ>oar dmK - n±ÝWoam Q>m¶J«rg
H$) ^maVr¶ J|S>m - am¶Zmo{ga²g ¶w{ZH$moaZrg
S>) Wm‘rZ h[aU - gad²g B©bXr
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n¶m©¶r CÎmao …
1) ’$º$ ~ Am{U H$ 2) ’$º$ H$ Am{U S> 3) ’$º$ A Am{U H$ 4) darbn¡H$s gd©

3) Choose the correct pair/pairs of the animal/animals and their scientific name/names ?

a) Asiatic lion - Panthera leo persica

b) Royal Bengal Tiger - Panthera tigris

c) Indian Rhinoceros - Rhinoceros unicornis

d) Thamin Deer -Cervus eldi

Answer Options :

1) Only b and c 2) only c and d 3) Only a and c 4) All of the above

7) àmÊ¶m§Mo eara d M¶mnM¶Z
1) nyU©nUo ~ao Pmë¶mZ§Vahr Hw$Í`mÀ`m {dð>o‘Ü ò ........ H$mbmdYrgmR>r H°$ZmBZ naìhmoìhm`ag (CPV) g§H«$‘U {XgyZ ¶oVo.

1) 10 {Xdg 2) 8 {Xdg 3) 16 {Xdg 4) 14 {Xdg
1) Canine Parvovirus (CPV) is shed in the faeces of infected dog even after clinical recovery for a

period about .........

1) 10 days 2) 8 days 3) 16 days 4) 14 days

2) gñVZ àmÊ¶m§À¶m öX¶m‘Ü¶o hmoUmam aº$m{^gaUmMm H«$‘ gm§Jm.
a) S>mdr bhmZ nmoH$ir / H$ßnm b) COdr bhmZ nmoH$ir / H$ßnm
c) S>mdr ‘moR>r nmoH$ir / H$ßnm d) COdr ‘moR>r nmoH$ir / H$ßnm
n¶m©¶r CÎmao …
1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

2) Give the sequence of blood circulation in mammalian heart.

a) Left auricle b) Right auricle c) Left ventricle d) Right ventricle

Answer Options :

1) (b), (a), (d), (c) 2) (a), (b), (c), (d) 3) (b), (d), (a), (c) 4) (d), (c), (b), (a)

3) hÎmt‘Ü ò J ©̂YmaUoMo {ZXmZ Imbrb AmYmamda Ho$bo OmD$ eH$Vo :
A) 10 AmR>dS>çm§Z§Va BñQ´moOoZMr dmT>bobr nmVir
~) àmoñQ>°½b±{S>ZMr nmVir 3 Vo 8 AmR>dS>çmV dmT>br
H$) àmob°pŠQ>Z 4-6 ‘{hÝ`m§V 200-600 nQ>rZo dmT>Vo
S>) 15 {Xdgm§Zr AëQ´mgmoZmoJ«m’$s
n¶m©¶r CÎmao :
1) (A) Am{U (~) 2) (H$) ’$º$ 3) (A) ’$º$ 4) (A), (~), (H$), (S>)

3) The pregnancy diagnosis in Elephants can be made on the basis of following :

a) Elevated level of estrogen after 10 weeks

b) Prostaglandin level increased at 3 to 8 weeks

c) Prolactin rises 200-600 times higher during 4-6 months

d) Ultrasonography after 15 days

Answer Options :

1) (a) & (b) 2) (c) only 3) (a) only 4) (a), (b), (c), (d)
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4) ‘mo{Z{b’$m°‘© àH$maMo A±Q>oZm ............... ‘Ü ò AmT>iVmV.
1) dmidr /Xr‘H$ 2) ZmH$VmoS>m/JdVmi 3) nV§J 4) ŵ§Jo

4) Moniliform type of antennae are found in ...............

1) Termites 2) Grasshoppers 3) Moths 4) Weevils

5) ^mbm ho AmoiIÊ`mgmR>r dmnabo OmUmao ‘hÎdmMo d¡{eï²>` Amho -
1) ‘mobwñH$m 2) AmW«m}nmoS²g 3) H$sQ>H$ 4) Zo‘mQ>moS>

5) The spear is an important characteristic used for identification of -

1) Mollusca 2) Arthropodes 3) Insects 4) Nematodes

6) hoQ´>moZoarg ‘Ü¶o CÎmamdVu ^mJmV OZZJ«§Wr {dH${gV hmoVmV. Ë¶m OZZJ«§Wr I§S>mg ............. åhUVmV.
1) E{nQ>moH$ 2) EQ>moH$ 3) hoQ>amoJoZr 4) ‘oQ>m~mobr

6) In heteroneresis the gonads are developed in the posterior part of the body. These gonads bearing

segments are called :

1) Epitoke 2) Atoke 3) Heterogamy. 4) Metaboly

7) {Xdgm qH$dm amÌr qH$dm h§Jm‘r Vmn‘mZmVrb {Z`{‘V ~Xbm§Zm gOrdm§Mm à{VgmX Ago åhUVmV.
1) ’$moQ>mono[aAm°{S>P‘ 2) X¡Z§{XZ Vmn‘mZ 3) W‘m}no[a`mo{S>P‘ 4) nrH$ dmT>

7) Response of living organism to regular changes in temperature, either day or night or seasonal is

termed as

1) Photoperiodism 2) Diurnal temperature

3) Thermoperiodism 4) Crop growth

8) ............. ho H$sQ>H$m§À`m dmT>rMo {Z`m‘H$ Amho Oo AZoH$ emofH$ H$sQ>H$m§da à^mdr {gÕ Pmbo Amho,
1) gm §̀Q´m{Z{bàmob 2) {’$àmo{Zb 3) nm`[aàm°Šgr’o$Z 4) àmonmJm©BQ>

8) ............. is an insect growth regulator proved effective against a number of sucking pests

1) Cyantraniliprole 2) Fipronil 3) Pyriproxyfen 4) Propargite

9) ‘¥V OÝ‘mMo Cƒ à‘mU Am{U Aeº$ ZdOmV àmUr, hm .......... Mm gd©gmYmaU n[aUm‘ Amho
1) Am`moS>rZMr H$‘VaVm 2) pìhQ>°{‘Z B©Mr H$‘VaVm
3) gobo{Z`‘ Q>m°pŠgH$mo{gg 4) H$m°naMr H$‘VaVm

9) A high incidence of stillbirths and weak, new born animals is common manifestation of

1) Iodine deficiency 2) Vitamin E deficiencey

3) Selenium toxicosis 4) Copper deficiency

10) H$sQ>H$ZmeHo$ H$sQ>H$m§Zm {df~mYm H$aVmZm Ë¶m§À¶m H$moUË¶m g§ñWm§Zm à^m{dV H$aVmV?
1) ídgZ g§ñWm 2) ‘‚mm g§ñWm 3) ñZm¶y g§ñWm 4) n[adhZ g§ñWm

10) Insecticide poison the insect pests by affecting their

1) Respiratory system 2) Nervous system 3) Muscular system 4) Circulatory system

11) Heterorhabditidae Hw$Qw>§~mVrb E§Q>mo‘mon°WmoOo{ZH$ Zo‘mQ>moS²gMm ......... gh nañna g§~§Y AgVmo.
1) Zmogo‘m 2) ’$moQ>moah°~S>g 3) ~°{gbg 4) ~°Š ẁbmoìhm`ag

11) Entomopathogenic nematodes in family Heterorhabditidae have mutualistic association with ..........

1) Nosema 2) Photorhabdus 3) Bacillus 4) Baculovirus
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12) AYyZ‘YyZ H$sQ>H$m§‘Ü ò, GEP A§XmOo {H$Vr dfmªV H$sQ>H$ H$sQ>H$m§gmR>r EIL bm ñne© H$aVo?
1) 2 dfmªnojm H$‘r 2) 2 Vo 5 dfmªÀ`m Xaå`mZ
3) 16 dfmªnojm OmñV 4) 10 Vo 15 dfmªÀ`m Xaå`mZ

12) In occasional pests, GEP touches EIL for insect pests in approximately how many years ?

1) Less than 2 years 2) Between 2 to 5 years

3) More than 16 years 4) Between 10 to 15 years

13) Hw$Í`m§‘Yrb Adm§pÀN>>V J ©̂YmaUm H$moUË`m EH$m hm‘m}Ýg CnMmamZo Q>miVm òVo ?
A) S>m`{Wb pñQ>b~oñQ>oam°b ~) EñQ°́{S>Amob ~|PmoEQ>
H$) EñQ°́{S>Amob àmo{nEQ> S>) EñQ°́{S>Amob ìh°boaoQ>
n`m©¶r CÎmao :
1) A, ~ Am{U H$ ’$º$ 2) A Am{U H$ ’$º$ 3) darbn¡H$s Zmhr 4) darb gd©

13) Undesired pregnancy in bitches can be prevented by using any one treatment consisting of ..

a) Diethyl stilbesterol b) Estradiol benzoate

c) Estradiol proprionate d) Estradiol valerate

Answer Options :

1) a, b and c only 2) a and c only 3) None of the above 4) All of the above
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(8) Cn ẁº$ Am{U hmZrH$maH$ àmUr
1) Cn¶wº$ àmUr
2) hmZrH$maH$ àmUr
3) àmÊ¶m§Mo AmOma d H$maH$ KQ>H$

1) Cn¶wº$ àmUr
1) "Qónm§J' ho ........ nmgyZ V`ma Ho$bobo CËnmXZ Amho.

A) g‘wÐr e¡dmb ~) g‘wÐr H$mH$S>r H$) bm°~ñQ>a eonyQ> S>) ~oS>H$mMo nm`
n¶m©¶r CÎmao :
1) A ’$º$ 2) ~ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

1) ‘Trepang’ is a product prepared from ...........

a) Seaweed b) Sea cucumber c) Lobster tail d) Frog legs

Answer options :

1) a only 2) b only 3) c and d only 4) d only

2) A‘o[aHo$Vrb S>m°³Q>a g§emoYH$m§À¶m EH$m nWH$mZo EH$m àmÊ¶mMo öX¶ OZwH$s¶ ~Xb H$ê$Z ‘mZdr earamV ~gdbo. Vmo
àmUr H$moUVm Amho?
1) ~¡b 2) Sw>¸$a 3) Hw$Ìm 4) ‘mH$S>

2) A team of doctors in the US successfully transplanted a genetically modified heart of an animal

into a human body. Which of the following animal has been used for the said surgery ?

1) Bullock 2) Pig 3) Dog 4) Monkey

3) O¡d-h{~©gmBS²g‘Ü ò H$moUË`m gyú‘Ordm§Mm dmna VUm§À`m {Z §̀ÌUmgmR>r gdm©V OmñV Ho$bm OmVmo?
1) ~waer 2) ~°ŠQ>o[a`m 8) ìhm`ag 4) Zo‘mQ>moS²g

3) In bioherbicides which micro organism is most commonly used for controlling weeds ?

1) Fungi 2) Bacteria 8) Viruses 4) Nematodes

2) hmZrH$maH$ àmUr
1) S>|½¶y {dfmUyMm àgma Imbrbn¡H$s H$moUVm S>mg Mmdë¶mZo hmoVmo?

1) ES>rg B{Oár 2) ³¶wbo³g 3) A°Zm’o${b³g 4) ßbo~moQ>mo‘g
1) Dengue virus spreads through bite of which of the following mosquitoes ?

1) Aedes aegypti 2) Culex 3) Anopheles 4) Plebotomus

2) boe‘°{Z`mMm boßQ>mo‘moZmS> àH$ma `m‘Ü ò AmT>iVmo :
1) ‘mUyg 2) g±S> âbm` 3) Ëgo-Ëgo âbm` 4) ~oS> ~J

2) Leptomonad form of Leishmania is found in :

1) man 2) sand fly 3) tse-tse fly 4) bed bug
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3) Imbrbn¡H$s H$moUVm H$sQ>H$ ‘¥V öX` Am{U nm§T>ao S>moHo$ (dead hearts and white heads) V`ma H$aVmo?
1) br’$ ’$moëS>a 2) {ndim Vm§Xyi ñQ>o‘ ~moAaa
3) Vm§Xyi Ho$g Air 4) Vm§Xyi {hñnm

3) Which of the following pest produces dead hearts and white heads ?

1) Leaf folder 2) Yellow Rice stem borer

3) Rice case worm 4) Rice hispa

4) Emmalocera depresseila ho D$gmÀ¶m amoJmg H$maUr ŷV .......... ¶m H$sQ>H$mMo emór` Zmd Amho.
1) Q>m°n eyQ> ~moAaa 2) ê$Q> ~moAaa 3) ñHo$b 4 ) B§Q>aZmoS> ~moAaa

4) Emmalocera depresseila is the scientific name of sugarcane ...........

1) Top shoot borer 2) Root borer 3) Scale 4) Internode borer

5) ^mV nrH$mm‘Yrb ""H«o$goH$ bjUo "" hr ñQ>o‘ ~moAaa amoJmgmaIrM dmQ>VmV, Ë¶mg H$maUr ŷV amoJOZH$ ........
1) nm`[a ẁbo[a`m Amoam¶Pm 2) hopë‘§Wmoñnmo[a`‘ Amoam¶Pm
3) P±Wmo‘moZg Amoam¶Pm nrìhr Amo[a{PH$mobm 4) P±Wmo‘moZg Amoam¶Pm nrìhr Amoam¶Pm

5) The “Kresek” symptoms confusing with stem borer in rice are due to the pathogen .....

1) Pyrieularia oryzae 2) Helminthosporium oryzae

3) Xanthomonas oryzae pv. oryzicola. 4) Xanthomonas oryzae pv. oryzae

6) {dfmar gmnm§‘Ü ò H$moUË`m J«§Wr ~XbyZ {df J«§Wr ~ZVmV?
1) go~o{e`g J«§Wr 2) goé{‘Zg J«§Wr 3) bmi J«§Wr 4) A§V…òmdr J«§Wr

6) In poisonous snakes which glands are modified to form poison gland ?

1) Sebaceous gland 2) Ceruminous gland 3) Salivary gland 4) Endocrine gland

7) Imbrb OmoS>çm Owidm.
a) nm¶WZ ‘mobwég i) {h‘moQ>m°p³gH$
b) ZmOm ZmOm ii) A§Y gmn
c) ìhm¶na añgrbr iii) Ý¶wamoQ>m°p³gH$
d) Q>m¶âbmoßg ~«m{‘Zmg iv) {~Z {dfmar
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

3) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

7) Match the following :

a) Python molurus i) Haemotoxic

b) Naja naja ii) Blind snake

c) Viper russelli iii) Neurotoxic

d) Typhlops braminus iv) Non-poisonous



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 35

For Private Circulation Only

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

8) OrdajH$ A±Q>rìhoZ‘À`m {Z{‘©VrgmR>r gmnmMo {df Amdí`H$ Amho. `m g§X^m©V, dÝ`Ord (g§ajU) A{Y{Z`‘, 1972
Zwgma Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ’$º$ gaH$mar EOÝgr gn© {df Jmoim H$ê$ eH$Vo.
~) gmnmMo {df Jmoim H$aÊ`mV ñdmañ` Agboë`m H$moUmbmhr nadmÝ`mgmR>r AO© H$aVm òB©b.
H$) ‘w»`‘§Ìr nadmZm Omar H$aVmV.
n¶m©¶r CÎmao …
1) gd© (A), (~) Am{U (H$) 2) ’$º$ (~)
3) ’$º$ (~) Am{U (H$) 4) ’$º$ (~) Am{U (H$)

8) Snake venom is required for manufacture of life-saving Antivenom. In this regard, which of the

following statements are correct as per wildlife (protection) Act, 1972 ?

a) Only government agency can collect snake venom.

b) Anyone interested in collecting snake venom can apply for licence.

c) Chief Minister issues the licence.

Answer Options :

1) All (a), (b) and (c) 2) Only (b) 3) Only (b) and (c) 4) Only (a) and (c)

9) Am§V[aH$ H$sS> åhUOo H$m¶?
1) EImÚm ‘{hÝ¶mV dma§dma ¶oUmar 2) EImÚm àXoemV ¶oUmar
3) EImÚm àXoemV dfm©Zwdf} AgUmar 4) EImÚm àXoemV Vrd« ñdê$nmV AgUmar

9) How the occurrence of Endemic pest is defined ?

1) Occurs frequently in months 2) Occurs in few localities

3) Occurs in the same area year after year 4) Occurs in an area in severe form

3) àmÊ¶m§Mo AmOma d H$maH$ KQ>H$
1) eoVmVrb OZmdam§Zm A±W«°Šg amoJ Imbrb H$maH$m§‘wio hmoVmo :

1) OrdmUy 2) {dfmUy 3) àmoQ>moPmoAm naOrdr 4) `mn¡H$s Zmhr
1) Anthrax disease of farm animals is caused by :

1) Bacteria 2) Viruses 3) Protozoan parasites 4) None of these

2) OZmdao/~modmBÝg‘Yrb gm§g{J©H$ ñVZXmhmer g§~§{YV à‘wI amoJH$maH$m‘Ü¶o ......... `m§Mm g‘mdoe hmoVmo
1) ñQ>°{’$bmoH$moH$g Am°[a`g 2) ñQóßQ>moH$moH$g {S>ñJ°bopŠQ>`m
3) EñMo[a{M`m H$mobmB© 4) XmoÝhr (1) Am{U (3)

2) Major pathogen(s) associated with contagious mastitis in bovines include .........

1) Staphylococcus aureus 2) Streptococcus dysgalactiae

3) Escherichia Coli 4) Both (1) and (3)
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3) '½b±S>g©' Mo H$maH$ KQ>H$ ......... Amho
1) ~Im}ëS>o[a`m ‘°boB© 2) ‘m`H$mo~°ŠQ>o[a`‘ B¹$s
3) am`Zmoñnmo[a{S>`‘ B¹$s 4) darbn¡H$s H$mhrhr Zmhr

3) The causative agent of 'Glanders' is

1) Burkholderia mallei 2) Mycobacterium equi

3) Rhinosporidium equi 4) None of the above
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(9) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZñnVtMo earaemó
1) dZñnVtMo dJuH$aU
2) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
3) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
4) dZñnVtMo earaemó
5) dZñnVtMo nmofU
6) dZñnVtMo M¶mnM¶Z

1) dZñnVtMo dJuH$aU
1) dZñnVrMr Z¡g{J©H$ dJuH$aU nÕVr H$moUr emoYyZ H$mT>cr ?

1) {WAmo’«$mñQ>g 2) ~|W‘ d hþH$a  3) H$mc© {cZm¶g 4) Or. E‘. pñ‘W
1) Who discovered the natural classification system of plants ?

1) Theophrastus 2) Bentham and Hooker

3) Carl Linnaeus 4) G. M. Smith

2) 1980 ‘Ü ò ~m°Q>{ZH$b [aìøy ‘Ü ò dJuH$aU àUmbr H$moUr àH$m{eV Ho$br?
1) Om°Z h{MÝgZ 2) Aa‘mZ V»VmOZ 3) AmW©a H$m°pÝ¹$ñQ> 4) am°~Q>© Wm°Z©

2) Who published system of classification in “Botanical Review” in 1980 ?

1) John Hutchinson 2) Arman Takhtajan 3) Arthur Conquist 4) Robert Thorne

3) {gñQ>r‘m ZoMa hm J«§W àH$m{eV H$aUmè`m dJuH$aUemókmMo Zmd :
1) ~|W‘ Am{U hÿH$a 2) H$mb© {b{Z`g 3) B§½ba Am{U à±Q>b 4) AmW©a H«$m°Z{¹$ñQ>

3) Name taxonomist who published Systema Naturae :

1) Bentham and Hooker 2) Carl Linnaeus

3) Engler and Prantle 4) Arthur Cronquist

4) eodmi dZñnVtÀ`m Aä`mgmer g§~§{YV {dkmZ ................ Amho.
1) ‘mZgemó 2) ’$m¶H$m°bm°Or 3) earaemó 4) darb gd©

4) Science that deals with the study of algae is ................

1) Psychology 2) Phycology 3) Phytology 4) All of the above

2) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
1) Imbrbn¡H$s H$moUË`m Eamo{~H$ ~°ŠQ>o[a`m‘Ü ò AmpÊdH$ Zm`Q´moOZ {Z{l²MV H$aÊ`mMr j‘Vm Amho?

1) S>p³g©¶m Am{U H«$mo‘°{Q>`‘ 2) S>p³g©¶m Am{U ~m¶Oo[a¨{H$`m
3) ~m¶Oo[a¨{H$`m Am{U Šbmoamo{~`‘ 4) H«$mo‘°{Q>`‘ Am{U Šbmoamo{~`‘

1) Which of the following aerobic bacteria have ability to fix molecular nitrogen ?

1) Derxia and Chromatium 2) Derxia and Beijerinckia

3) Beijerinckia and Chlorobium 4) Chromatium and Chlorobium



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 38

For Private Circulation Only

2) Imbrbn¡H$s H$moUVm dZñnVr g‘yh g¥ï>rVrb C^¶Ma dZñnVr åhUyZ AmoiIbm OmVmo?
1) Q>o[aS>mo’$mB©Q²>g 2) ~«m`mo’$mB©Q>g 3) {OåZmoñn‘©g 4) E§OrAmoñn‘©g

2) Which of the followings are known as Amphibians of plant kingdom ?

1) Pteridophytes 2) Bryophytes 3) Gymnosperms 4) Angiosperms

3) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
1) emo[a¶m amo~ñQ>m ........ O§JbmV AmT>iVo.

1) VamB© 2) {edm{bH$ 3) Imgr Q>oH$S>r 4) darb gd©
1) Shorea robusta is found in forests.

1) Tarai 2) Siwalik 3) Khasi hill 4) All the above

2) JmoS>çm nmÊ`mVrb XbXbrÀ`m O§JbmVrb ‘hÎdmÀ`m àOmVr AmhoV :
1) Avicennia sp. 2) Barringtonia sp. 3) Brugeriera sp. 4) Myristica sp.

2) The important species of a fresh water swamp forest is :

1) Avicennia sp. 2) Barringtonia sp. 3) Brugeriera sp. 4) Myristica sp.

3) Á¶m PmS>m§Mr ~r CKS>r AgVo, Vr PmS>o H$moUË¶m JQ>mV ‘moS>VmV?
1) A±{OAmoñn‘© 2) {OåZmoñn‘© 3) Q´>°{MAmo’$m¶Q>m 4) {H«$ßQ>moJ°åg

3) Plants whose seeds are naked, are classified in which group ?

1) Capers 2) Gymmnosperms 3) Tracheophyta 4) Cryptogamms

4) dZñnVtMo earaemó
1) EH$Xb dZñnVtÀ¶m ‘wim§‘Ü ò AZoH$ EH$H$mo{eH$s` ‘wim§À`m Ho$gm§Mm EH$b, ~møV‘ Wa ....... åhUyZ AmoiIbm OmVmo.

1) {nW 2) H$m°Q>}Šg 3) noargm`H$b 4) E{n~b‘m
1) In monocotyledonous roots the single, outermost layer with a number of unicellular root hairs is

known as .......

1) Pith 2) Cortex 3) Pericycle 4) Epiblema

2) n[an¹$ noetÀ`m ‘o[añQ>o‘°{Q>H$ "AdñWo'H$S>o naV OmÊ`mÀ`m Am{U A{d ô{XV H$m°bg {Q>í ỳ V`ma hmoÊ`mÀ`m KQ>Zobm
............ Ago åhUVmV.
1) gm`Q>mo{S>’$a|{eEeZ 2) {S>’$a|{eEeZ 3) nwZ{d©̂ oXZ 4) Q>mo{Q>nmoQ>|gr

2) The phenomenon of mature cells reverting to a meristematic ‘state and forming undifferentiated

callus tissue is termed as ............

1) Cytodifferentiation 2) Dedifferentiation

3) Redifferentiation 4) Totipotency

3) O§JbmVrb PmS>m§Mr C§Mr dmT> amÌr qH$dm gmdbrV doJmZo hmoVo H$maU :
A) dmT>Umar Aj H$‘r àH$memÀ`m Vrd«Vo‘wio CÎmo{OV hmoVo
~) amÌr qH$dm gmdbrV OmñV nmofU {‘iVo
darbn¡H$s H$moUVo ~amo~a Amho?
1) ’$º$ (A) 2) ’$º$ (~) 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr
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3) Height growth in forest plants takes place rapidly during night or in shade because :

a) growing axis is stimulated by low light intensity

b) more nutrition is available during night or in shade

Which of the above is correct ?

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

4)  ’$i CËnÞ Z H$aUmè¶m PmS>mbm H$m¶ åhUVmV ?
a) AH$m¶©j‘ b) CnOmmD$ c) nmoH$mn©g d) n{W©ZmoH$mn©g
darbn¡H$s H$moUVm n¶m©¶ / n¶m©¶o ~amo~a Amho / Vo ?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (b) Am{U (c) ’$º$ 4) (d) ’$º$

4) A plant that does not produce fruit is called as ...........

a) acarpous b) fertile c) apocarpus d) parthenocarpus

Which of the option/s given above is/are correct ?

1) (a) only 2) (a) and (b) only 3) (b) and (c) only. 4) (d) only

5) hoQ>oamo{gg `mÛmao {Z{l²MV Ho$bo OmD$ eH$Vo :
A) dZñn{VOÝ` àgma ~) A°nmo{‘pŠgg
~) ZamMr ZnwgH$Vm S>) g§Vw{bV àmUKmVH$ àUmbr
n¶m©¶r CÎmao :
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (A), (H$) Am{U (S>) 4) (A), (~) Am{U (d) ’$º$

5) Heterosis can be fixed through :

a) Vegetative propagation b) Apomixis

c) Male sterility d) Balanced lethal system

Answer Options :

1) (a) and (b) only 2) (a) and (c) only

3) (a), (c) and (d) 4) (a), (b) and (d) only

5) dZñnVtMo nmofU
1) Imbrbn¡H$s H$moUVo KQ>H$ dZñnVr‘Ü ò {Z`m‘H$ Am{U dmhH$ åhUyZ H$m‘ H$aVmV?

1) C,H,O 2) N,P,S 3) K, Ca, Mg 4) Fe, Mn, Zn

1) Which of the following elements act as regulators and carriers in the plant ?

1) C,H,O 2) N,P,S 3) K, Ca, Mg 4) Fe, Mn, Zn

2) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo dZñnVt‘Yrb AH$m~©{ZH$ nmofH$ KQ>H$m§~m~V gË¶ AmhoV?
A) N, S Am{U Fe ho ‘°H«$moÝ¶y{Q´>¶§Q>g AmhoV.
~) O, Ca Am{U Mg ho ‘m¶H«$moÝ¶y{Q´>¶§Q²>g AmhoV.
H$) Cu, Zn Am{U Mn ho Amdí¶H$ nmofH$ VÎd AmhoV.
S>) B, Mo Am{U Cl ho AZmdí¶H$ nmofH$ VÎd AmhoV.
n¶m©¶r CÎmao :
1) (A) ’$º$ 2) (A) Am{U (~) 3) (A) Am{U (H$) 4) (H$) ’$º$
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2) Which of the following is correct statement/statements regarding inorganic nutrients in plants ?

a) N, S and Fe are macronutrients

b) O, Ca and Mg are Micronutrients

c) Cu, Zn and Mn are essential elements

d) B, Mo and CI are non-essential elements Answer

Answer Options :

1) (a) Only 2) (a) and (b) 3) (a) and (c) 4) (c) Only

3) amonmgmR>r ’$m°ñ’$ag Mr CnbãYVm ........ gma»`m KQ>H$m§À`m nañna g§dmXmÛmao {Z §̀{ÌV Ho$br OmVo.
1) ’$º$ à‘mU 2) ’$º$ à‘mU Am{U Vrd«Vm
3) ’$º$ Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm 4) ‘mÌm, Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm

3) Availability of P to plant is controlled by the mutual interplay of factors such as ........

1) quantity only

2) quantity and intensity only

3) intensity and phosphate buffering capacity only

4) quantity, intensity and phosphate buffering capacity

4) OmoS>çm bmdm …
    nrH$ AÞÐì¶o CXmhaU
a) ‘yc ŷV AÞÐì¶ i) Vm§~o
b) àmW{‘H$ AÞÐì¶ ii) ñ’w$aX
c) Xþæ¶‘ AÞÐì¶ iii) àmUdm ỳ
d) gyú‘ AÞÐì¶ iv) J§YH$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (iv) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii) (iv)

4) Match the following :

Plant nutrients Example

a) Basic nutrient i) Copper

b) Primary nutrient ii) Phosphorus

c) Secondary nutrient iii) Oxygen

d) Micro nutrient iv) Sulphur

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii), (iv) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii)  (iv)
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5) ‘°¾o{e¶‘ H$moUË¶m g§aMZoMm ‘hÎdmMm KQ>H$ Amho ?
a) ³bmoamo{’$b b) Zm¶Q´>moOZ ‘oQ>m°~m°{bP‘
c) àH$me g§íbofU d) gmIa dmhVwH$
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (b) Am{U (c) 4) ’$º$ (c) Am{U (d)

5) Magnesium is essential for which structure ?

a) Chlorophyll b) Nitrogen metabolism

c) Photosynthesis d) Sugar transport

Which of the statemerits given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (b) 3) Only (b) and (c) 4) Only (c) and (d)

6) dZñnVtÀ¶m Am¶wî¶mVbo ’«o$‘dH©$ Bbo‘|Q>g H$moUVo AmhoV ?
1) Zm¶Q´>moOZ, ‘°¾o{eA‘, ~moam°Z 2) H°$pëe¶‘, Zm¶Q´>moOZ, nmoQ>°{e¶‘
3) ‘°¾o{e¶‘, Am¶Z©, ³bmoarZ 4) H$m~©Z, hm¶S´>moOZ, Am°³grOZ

6) Which are the framework elements in plant life ?

1) Nitrogen, Magnesium, Boron 2) Calcium, Nitrogen, Potassium

3) Magnesium, Iron, Chlorine 4) Carbon, Hydrogen, Oxygen

7) dZñnVtÀ¶m gm‘mÝ¶ dmT>rH$arVm H$moUVm KQ>H$ OmñV à‘mUmV Amdí¶H$ AgVmo ?
a) nmoQ>°{e¶‘ b) ~moam°Z c) ³bmoarZ d) ‘°¾o{e¶‘
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) 4) ’$º$ (d)

7) Which element is required in higher amounts for normal plant growth ?

a) Potassium b) Boron c) Chlorine d) Magnesium

Which of the statements given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (d)

6) dZñnVtMo M¶mnM¶Z
1) ŠbmoamoßbmñQ>Mo ‘w»` H$m ©̀ ...... Amho.

1) ídgZ 2) Šbmoamo{gg 3) àH$meg§íbofU 4) ’$moQ>mo’$m°ñ’$mo[aboeZ
1) The main function of chloroplasts is .......

1) Respiration 2) Chlorosis 3) Photosynthesis 4) Photophosphorylation

2) Imbrbn¡H$s H$moUVo g§àoaH$ dZñnVr ‘Ü¶o d¥ÕËd {Z‘m©U H$aVo ?
1) Am°p³gPZ 2) gm¶Q>moH$m¶{ZZ 3) B{WbrZ 4) A°~go{gH$ A°{gS>

2) Which of the following plant hormone is responsible for senescence?

1) Auxin 2) Cytokinin 3) Ethylene 4) Abscisic Acid
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3) PmS>m§À¶m ídmgmoÀN>dmgmÀ¶m H«o$~À¶m MH«$mXaå¶mZ Imbrbn¡H$s H$moUË¶m à{H«$¶oÛmao â¶w‘°arH$ A°grS>Mo ê$nm§Va ‘°brH$
A°grS> ‘Ü¶o hmoVo ?
1) S>rH$m~m}³grboeZ 2) {S>hm¶S´>moOrZoeZ 3) {S>hm¶S´>oeZ 4) hm¶S´>oeZ

3) During Krebs cycle in respiration, fumaric acid gets converted into malic acid by

1) decarboxylation 2) dehydrogenation 3) dehydration 4) hydration

4) dZñnVtMo gmIa dmhVwH$sMo H$m‘ H$moUVm KQ>H$ H$aVmo ?
a) H°$pëe¶‘ b) Am¶Z© c) ~moam°Z d) ‘°¾o{e¶‘
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) 4) ’$º$ (c) Am{U (d)

4) In plants which element is essential for sugar transport ?

a) Calcium b) Tron c) Boron d) Magnesium

Which of the statements given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (c) and (d)
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(10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó
1) Cn ẁº$ dZñnVr
2) hm{ZH$maH$ dZñnVr
3)  dZñnVtMo AmOma
4) dZñnVrOÝ¶ Am¡fYo d agm¶Zo
3) dZì¶dñWmnZ

1) Cn ẁº$ dZñnVr
1) Imbrbn¡H$s H$moUVo PmS> à{V hoŠQ>a à{V df© 50 {H$bmo Zm`Q´moOZMo `moJXmZ XoVo?

1) ~m ŷi Am°[aŠ ẁ{b’$m°{‘©g 2) H°$gwA[aZm B{¹${g{Q>’$mo{b`m
3) Ficus religiosa 4) Azadirachta indica

1) Which of the following tree contribute upto 50 kg Nitrogen per hectare per year ?

1) Acacia auriculiformis 2) Casuarina equisetifolia

3) Ficus religiosa 4) Azadirachta indica

2) {Zù`m, {haì`m e¡dmbbm ......... Agohr åhUVmV.
1) A°Zm~oZm APmobm 2) no{Z{g{b`‘ {S>{OQ>‘
3) gm`Zmo~°ŠQ>o[a`m 4) darbn¡H$s H$mhrhr Zmhr

2) The blue, green algae is also known as ..........

1) Anabaena azollae 2) Penicillium digitatum

3) Cyanobacteria 4) None of the above

3) nwT>rb {dYmZm§Mm {dMma H$am :
{dYmZ I … ~°{gbg Ww[aZOoÝgrg ho EH$ ‘m¶H«$mo{~¶b H$sQ>H$ZmeH$ Amho.
{dYmZ II : ~oìh[a¶m ~m{g¶mZ {h ~waer H$sQ>H$ZmeH$ åhUyZ dmnabo OmVo.
n¶m©¶r CÎmao …
1) {dYmZ I ~amo~a Am{U {dYmZ II MyH$ Amho
2) {dYmZ I MyH$ Am{U {dYmZ II ~amo~a Amho
3) XmoÝhr {dYmZo MyH$ AmhoV.
4) XmoÝhr {dYmZo ~amo~a AmhoV.

3) Consider the following statements :

Statement I : Bacillus thuringiensis (Bt) is a microbial Pesticide

Statement II : Beaveria bassiana is a fungus used as a Pesticide

Answer Options :

1) Statement I is correct and Statement II is incorrect

2) Statement I is incorrect and Statement II is correct

3) Both Statements are incorrect

4) Both Statements are correct
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4) ìhmB©Q> ~Q>Z ‘eê$åg²Mo d¡km{ZH$ (Ordemór¶) g§~moYZ ...... Ago Amho.
1) ßbyamoQ>g âbmo[aS>m 2) ìhmoëìhm[aEbm ìhmoëìhm{gEB©
3) AJ°[aH$g ~m¶ñnmoag 4) E[a‘moWo{e¶‘ A°í~r

4) White Button Mushrooms are scientifically (Biologically) named as

1) Pleurotus f!orido 2) Volvoriella volvoceae

3) Agaricus bisporus 4) Eremothecium oshbyi

5) nopÝgb CÚmoJmV d¥j àOmVtMo bmHy$S> dmnabo OmVo.
1) E{S>Zm H$m{S>©’$mo{b`m 2) E~rO qnS´mo 3) Qy>Zm {g{b`mQ>m 4) Ow{Znoag ìh{O©{Z`mZm

5) The wood of tree species is used in pencil industry.

1) Adina cardifolia 2) Abies pindrow 3) Toona ciliata 4) Juniperus virginiana

6) gmMboë`m nmÊ`mÀ`m Vbmdm§‘Ü ò .......... ¶m à{H«$ òÛmao ImoS>mnmgyZ Á ỳQ> ’$m`~a doJio Ho$bo OmVo.
1) H«$qeJ 2) H°$b|S>[a¨J 3) aoqÅ>J 4) darbn¡H$s H$mhrhr Zmhr

6) Jute fibre is seperated in pools of stagnant water from the stem by a process of :

1) Crushing 2) Calendering 3) Retting 4) None of the above

7) H$moUVo IV ho O¡{dH$ IV åhUyZ AmoiIbo OmVo ?
a) Jm§Sy>i IV b) eoUIV c) am¶Pmo{~¶‘ d) {hadirMo IV
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) ’$º$ (c)

3) ’$º$ (d) 4) (a), (b) Am{U (d)

7) Which fertilizer is known as Bio-fertiliser ?

a) Vermicompost b) farmyard Manure c) Rhizobium d) Green Manure

Answer Options :

1) (a), (b) and (c) 2) Only (c) 3) Only (d) 4) (a), (b) and (d)

8) ~m¶moJ°gÀ¶m {Z{‘©Vr‘Ü¶o E°Zmamo{~H$ nMZmMo A§{V‘ CËnmXZ H$moUVo ?
1) BWoZ d H$m~©Z S>m¶Am°³gmB©S> 2) {‘WoZ d H$m~©Z S>m¶Am°³gmB©S>
3) BWoZ d Am°p³gOZ 4) BWoZ d hm¶S´>moOZ

8)  Which is the final product of anaerobic digestion in the production of biogas ?

1) Ethane and Carbon dioxide 2) Methane and Carbon dioxide

3) Ethane and Oxygen 4) Ethane and Hydrogen

9) A’y$ åhUOo -
1) A’y$À¶m PmS>mMo ~m|S> 2) ^maVr¶ ^m§JmÀ¶m PmS>mMo ~m|S>
3) H$moH$m PmS>mMo ~m|S> 4) Jm§OmÀ¶m PmS>mMo ~m|S>

9) Opium means -

1) The capsule of the Poppy 2) The capsule of the Indian hemp

3) The capsule of Coca plant 4) The capsule of Ganja plant
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10) Ho$.ìhr.Am¶.gr. O¡d dm¶y àH$ënmMo ’$m¶Xo Ago AmhoV …
a) ñdÀN> Am{U Cƒ Cî‘m§H$ B§YZ nwadR>m. b) AZEamo~rH$[aË¶m nMbobr ñbar XoVo.
c) O§JbmMm Zme H$‘r H$aVo. d) ZmB©Q> gm°B©bMm amoJOZH$ ^ma H$‘r H$aVo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/AmhoV ?
1) (a), (b) Am{U (d) 2) (b), (c) Am{U (d)

3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (c)

10)  Benefits of KVIC biogas plant are :

a) Supplies clean and high calorific fuel. b) Provides anaerobically digested slurry.

c) Reduces the destruction of forests. d) Reduces the pathogenic load of night soil.

Which of the above statement/s is/are correct ?

1) (a), (b) and (d) 2) (b), (c) and (d) 3) (a), (b), (c) and (d) 4) (a), (b) and (c)

2) hm{ZH$maH$ dZñnVr
1) ’$m°b Am‘ud‘© noñQ>Mo d¡km{ZH$ Zmd ........... Amho.

1) ñnmoS>moßQ>oam {bQw>am 2) ñnmoS>oßQ>oam ’«w$JrnS>m© 3) ñnmoS>moßQ>oam EpŠgJwAm 4) ñnmoS>moßQ>oam {hßno[ag
1) Scientific name of Fall Armyworm Pest is -

1) Spodoptera Litura 2) Spodeptera Frugiperda

3) Spodoptera Exigua 4) Spodoptera Hipparis

2) ...... ho EH$ g§nyU© namonOrdr VU Amho Á`m‘Ü ò gwVir, gmoZoar {ndir dm`ar XoR> AgVo.
1) bm°a°ÝWg 2) nmW}{Z`‘ 3) Hw$ñHw$Q>m 4) pñQ´Jm

2) ...... is a complete parasitic weed having twining, golden yellow wiry stems.

1) Loranthus 2) Parthenium 3) Cuscuta 4) Striga

3) ‘ñQ>boQ>moO ¶m naOrdr dZñnVrMo emór¶ Zmd Amho -
1) S|>S´moâWmo ’$mëHo$Q> 2) pñQ´Jm E{e`m{Q>H$m 3) Amoamo~±H$s B{OpßQ>H$m 4) Hw$ñHw$Q>m J«moZmoìhr

3) Botanical name of plant parasitic mistletoes is

1) Dendrophthoe falcate 2) Striga asiatica

3) Orobanche aegyptiaca 4) Cuscuta gronovii

4) ''Abu ãbmBQ> Am°’$ nmoQ>°Q>mo/Q>mo‘°Q>mo '' hm amoJ ........ `m‘wio hmoVmo
1) Ascomycetes SPP 2) Alternaria SPP 3) Lirula SPP 4) Rhizosphora SPP

4) Early blight of potato and tomato is caused by ..........

1) Ascomycetes SPP 2) Alternaria SPP 3) Lirula SPP 4) Rhizosphora SPP

3) dZñnVtMo AmOma
1) Imcrcn¡H$s H$moUVr H$maH$Ord Jìhmdarc Vm§~oam amoJmgmR>r H$maUr ŷV Amho ?

1) np³g{Z¶m J«m‘rUr {Q´>Q>rH$m¶ 2) P±Wmo‘moZmg {gQ´>m¶
3) np³g{Z¶m nanyar¶m 4) ßcmP‘monmoam pìhQ>rH$moc

1) Which of the following is the causal organism of Wheat Rust disease ?

1) Puccinia graminis tritici 2) Xanthomas citri

3) Puccinia purpurea 4) Plasmospora viticola
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2) dZñnVrÀ`m EH$ qH$dm A{YH$ Amdûm`H$ H$m`mª‘Ü ò hñVjon Ho$ë`m‘wio amoJmg H$maUr ŷV R>aUmè¶m EImÚm naOrdmÀ¶m
j‘Vog ......... åhUVmV.
1) naOrdZ 2) A{VnaOrdrnUm 3) amoJOZH$Vm 4) A{g‘~m`mo{Q>H$

2) Which of the following is the ability of Parasite to interfere with one or more of the essential

functions of the plant thereby causing disease ?

1) Parasitism 2) Hyperparasitism 3) Pathogenicity 4) Asymbiotic

3) dZñnVr amoJ ì`dñWmnZmgmR>r 1963 ‘Ü ò ìh°Z S>oa ßb±H$Zo {Xbobm X = X0ert `m gyÌmVrb X0 Amho -
1) g§gJ© Xa 2) A§{V‘ Vrd«Vm
3) àma§{^H$ BZmoHw$b‘ 4) amoJmÀ`m {dH$mgmMm H$mbmdYr

3) The X0 in formula X = X0ert given by Van der Plank in 1963 for plant disease management is -

1) Infection rate 2) Final severity

3) Initial inoculum 4) Duration of disease development

4) dZñnVrOÝ¶ Am¡fYo d agm¶Zo
1) dZñnVtÀ¶m .......... ^mJmnmgyZ Am¡fYo {‘iVmV.

1) ‘wio 2) gmb 3) nmZo 4) darb gd© ^mJ
1) Drugs are obtained from the of the plants.

1) Roots 2) Bark 3) Leaves 4) All of the above parts

2) gbmB© qS>H$ ho ...... Mo CËnmXZ Amho.
1) ~m°gdo{b`m goamQ>m 2) ~m¡{h{Z`m aoQw>gm 3) EZmo{Ogg b°{Q>’$mo{b`m 4) ñQ>Hw©${b`m ẁaoÝg

2) Salai gum is the product of ......

1) Boswellia serrata 2) Bauhinia retusa 3) Anogeissus latifolia 4) Sterculia urens

3) ...... `m‘Ü ò H°$pëe`‘ Am°ŠgboQ> {H«$ñQ>ëg a°nmBS²g‘Ü ò n°H$ Ho$bobo AgVmV, Á`m§Zm B{S>AmoãbmñQ²g åhUVmV.
1) S§>~ H°$Z (S>m`’o$Z~°{M`m) 2) ½bmoar {bbr
3) AaoH$m nm‘ 4) Aë’$m-Aë’$m

3) ...... contains calcium oxalate crystals are Packaged in raphides, arranged in bundles called idioblasts.

1) Dumb cane (Dieffenbachia) 2) Glory lily

3) Areca palm 4) Alfa-alfa

4) H$Sw>qb~m‘Ü¶o .............. ZmdmMo H$sQ>H$ZmeH$ AgVo.
a) S>r. S>r. Q>r b) AP°S>°[ap³Q>Z c) Am°ëS´rZ d) ~r. EM. gr
darbn¡H$s H$moUVm n¶m©¶ / n¶m©¶o ~amo~a Amho / Vo ?
1) a Am{U b ’$º$ 2) b ’$º$ 3) c ’$º$ 4) c Am{U d

4) ...... insecticide is present in neem plant.

a) BDT b) Azadirachtin c) Aldrin d) B.H.C.

Which of the option/s given above is /are correct ?

1) (a) and (b) only 2) (b) only 3) (c) only 4) (c) and (d) only



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 47

For Private Circulation Only

5) H$moUË`m BgopÝe¶b Am°B©bMr gdm©{YH$ {Z`m©V hmoVo?
1) nona q‘Q> 2) OnmZr q‘Q> 3) ~Jm© q‘Q> 4) ^mbm q‘Q>

5) Which essential oil is having a maximum export ?

1) Pepper mint 2) Japanese mint 3) Berga mint 4) Spear mint

6) H«°$gwbo{e`Z E°{gS> M`mnM` Agboë`m dZñnVr AË §̀V XwîH$mi-à{VamoYH$ AmhoV. `m àH$maÀ`m àH$meg§l²bofUmgh
Am{W©H$ dZñnVr ................ AmhoV.
A) Ádmar ~) Agave H$) Safflower S>) AZZg
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) H$ Am{U S> 4) ~ Am{U S>

6) Plants with crassulacean acid metabolism are highly drought-resistant. The economic plants with

this type of photosythesis are .................

a) Sorghum b) Agave c) Safflower d) Pineapple

Answer options :

1) a and b 2) b and c 3) c and d 4) b and d

5) dZì¶dñWmnZ
1) O§Jbmda amÁ`mMr ‘ºo$Xmar àñWm{nV H$aÊ`mMm n{hbm à`ËZ ^maVr` dZ H$m`ÚmÛmao H$aÊ`mV Ambm.

1) 1857 2) 1865 3) 1878 4) 1827
1) The first attempt for asserting state monopoly right over forest was made through an Indian Forest

Act of.

1) 1857 2) 1865 3) 1878 4) 1827

2) JFMC/EDC Mo {H$Vr nX{gÕ gXñ` AmhoV?
1) 1 2) 2 3) 3 4) 4

2) How many ex-officio members do the JFMC/EDC have ?

1) 1 2) 2 3) 3 4) 4

3) H¥$fr dZrH$aU àUmbr {OWo KQ>H$ OrdZmMm H$mhr ^mJ EH$Ì amhVmV.
1) `moJm`moJ 2) ghdVu 3) ‘YyZ‘YyZ 4) àjo{nV

3) Agroforestry system where component stay together for some part of life.

1) Coincident 2) Concomitant 3) Intermittent 4) Interpolated

4) Imbrb {dYmZ {dMmamV ¿`m:
A) H¥$fr dZrH$aU àUmbr ho H¥$fr dZrH$aU bmJdS> nÕVrMo {d{eï> ñWm{ZH$ CXmhaU Amho
~) H¥$fr dZrH$aU bmJdS> nÕV hr H¥$fr dZrH$aU àUmbrMo {d{eï> ñWm{ZH$ CXmhaU Amho
`m g§X^m©V, Imbrbn¡H$s H$moUVm n`m©̀  `mo½` Amho?
1) XmoÝhr gË` 2) ’$º$ (A) gË` 3) ’$º$ (~) gË` 4) gË` Zmhr

4) Consider following statement :

a) Agroforestry system is a specific local example of an Agroforestry practice

b) Agroforestry practice is a specific local.example of an Agroforestry system

In this context, which of the following option is correct ?

1) Both true 2) Only (a) true 3) Only (b) true 4) None true
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5) PmS>m§Mo H¥$fr {nH$m§da hmoUmao Imbrbn¡H$s H$moUVo n[aUm‘ H¥$fr dZrH$aUmV ‘hÎdmMo AmhoV?
A) ñnYm©
~) gyú‘ hdm‘mZ ~Xb
H$) nmofH$ gm`H$qbJ
n¶m©¶r CÎmao …
1) ’$º$ (~) 2) ’$º$ (A) Am{U (~) 3) ’$º$ (A) Am{U (H$) 4) darb gd©

5) Which of the following effects of trees on agricultural crops are important in agroforestry ?

a) Competition

b) Microclimate modification

c) Nutrient cycling

Answer Options :

1) Only (b) 2) Only (a) and (b) 3) Only (a) and (c) 4) All the above

6) g§̀ wº$ dZ ì`dñWmnZ ...... CnH«$‘m§Zm à^mdrnUo àmoËgmhZ XoD$ eH$Vo.
1) NTEP g§H$bZ 2) Am¡fYr dZñnVtMo g§dY©Z
3) E{b`Z àOmVtMo {Z‘y©bZ 4) darb gd©

6) The joint forest management can effectively promote ...... activities.

1) NTEP collection 2) Conservation of medicinal plants

3) Eradication of Alien species 4) All the above

7) ^maVr` dZ A{Y{Z`‘, 1927 ‘Ü ò 2017 ‘Ü ò H$b‘ 2 À`m I§S> (7) ‘YyZ '~m§~y' hm eãX dJiÊ`mgmR>r gwYmaUm
H$aÊ`mV Ambr. `m XwéñVr‘wio ...... Mr ì`m»`m ~Xbbr.
1) bmHy$S> 2) PmS> 3) PwSy>n 4) nm‘

7) Indian Forest Act, 1927 was amended in 2017 to omit the word ‘bamboo’ from clause(7) of

section 2. This amendment changed the definition of ......

1) Timber 2) Tree 3) Shrub 4) Palm

8) {‘`mdmH$s O§Jb Iyn OdiÀ`m A§Vamda dZñnVtÀ`m AZoH$ àOmVr bmdyZ dmT>dbo OmVo. ho O§Jb doJmZo V`ma hmoÊ`mg
‘XV H$aUmam à‘wI g§dmX åhUOo ......
1) nañnaghH$m¶© 2) naOrdrdmX 3) ghOrdZdmX 4) ñnYm©dmX

8) Miyawaki forest is grown by planting several species of plants in very close spacing. The major

interaction that helps form this forest rapidly is ......

1) Mutualism 2) Parasitism 3) Comensalism 4) Competition
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(11) A°J«moBH$mobm°Or - g|{Ð  ̀eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì̀ dñWmnZ
1) A°J«moBH$mobm°Or d H¥$frì¶dñWmnZ
2) nrH$m§Mr dmT>, nmofU, VUo, IVo, H$sQ>H$ZmeHo$
3) {nHo$ Am{U g§H$[aV OmVr
4) ŷg§YmaU d ‘emJV V§ÌkmZ
5) Obg§YmaU d nmUr ì`dñWmnZ

1) A°J«moBH$mobm°Or d H¥$frì¶dñWmnZ
1) BH$m°bm°Or (Ecology) hm eãX Imbrbn¡H$s H$moUË¶m emókmÛmao emoYÊ¶mV Ambm?

1) Mmb©g² H«o$ãg 2) AZ}ñQ> hoZarM h°Ho$b 3) E. Or. Q>°Ýgbr 4) pìhŠQ>a eo’$S>©
1) Who among the following Scientists coined the term "Ecology"?

1) Charles Kerbs 2) Ernst Heinrich Haeckel

3) A. G. Tansley 4) Victor Shelford

2) n[ag§ñWm hr {ZgJm©Mm ñd¶§ {Z¶m‘H$ d ñd¶§ emœV g§aMZmË‘H$ d H$m¶m©Ë‘H$ g§M Amho. OoWo O¡{dH$ d AO¡{dH$ KQ>H$
EH$‘oH$m§‘Ü¶o Jw§Vbobo AgVmV Á¶m‘Ü¶o Imbrb {H«$¶m KS>VmV …
a) CËnmXH$Vm b) Hw$OUo c) nmofU MH«$ d) COm© àdmh
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (d)

2) Ecosystem is a self-regulatory and self-sustained structural and functional unit of ay nature where

biotic and abiotic components are linked together with the following processes :

a) Productivity b) Decomposition

c) Nutrient cycling d) Energy flow

Which of the statements given above is/are correct?

1) Only (a) 2) Only (a) and (b) 3) (a), (b), (c) and (d) 4) (a), (b) and (d)

3) g|{Ð` ómoVm§nmgyZ D$Om© Am{U nXmW© XmoÝhr {‘idUmè`m OrdmUy§Zm ........ åhUVmV.
1) Am°Q>moQ´m°âg 2) hoQ>amoQ´m°âg 3) ’$moQ>moQ´m°âg 4) àmo{Q>ñQ>

3)  Bacteria that obtain both energy and material from organic sources are called........

1) Autotrophs 2) Heterotrophs 3) Phototrophs 4) Protists

4) O¡{dH$ Zm¶Q´>moOZ {’$³goeZ Xaå¶mZ, Zm¶{Q´>’$mBªJ {OdmUy H$moUmMo ê$nm§Va H$em‘Ü¶o H$aVmV?
1) NO

3

-

 
to NH

4

+ ‘Ü¶o 2) N
2 
to NH

4

+ ‘Ü¶o 3) NH
4

+ Mo NO
3

-

 
‘Ü¶o 4) NO

3

-

 
Mo N

2 
‘Ü¶o

4) During biological nitrogen fixation, nitrifying bacteria convert ......

1) NO
3

-

 
to NH

4

+ 2) N
2 
to NH

4

+ 3) NH
4

+ to NO
3

- 4) NO
3

-

 
to N

2

5) h[a`mUmVrb JwS>Jmd àH$ënmMr gwédmV Ho$br
1) Eg.Ho$. S>o 2) E’$. Eb. ~«m¶Z 3) ‘mo. H$. Jm§Yr 4) ~r. EZ. Jwám

5) Gurgaon Project in Haryana was started by

1) S. K. Dey 2) F. L. Brayne 3) M. K. Gandhi 4) B. N. Gupta



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 50

For Private Circulation Only

6) EImÚm {Oëh`mVrb eml²dV H¥$fr {dH$mgmgmR>r H¥$frH$m`m©V gh^mJr Agboë`m à‘wI ^mJYmaH$m§Mr .......... hr EH$
g§ñWm Amho.
1) à{ejU Am{U ôQ> (T & V) 2) Šbm §̀Q> AmYm[aV {dñVma (CBE)

3) H¥$fr V§ÌkmZ ì`dñWmnZ g§ñWm (ATMA) 4) EH$mpË‘H$ àH$ën Ñï>rH$moZ (IPA)

6) ...... is a society of key stakeholders involved in agricultural activities for sustainable agricultural

development in the district.

1) Training and Visit (T & V)

2) Client Based Extension (CBE)

3) Agricultural Technology Management Agency (ATMA)

4) Integrated Project Approach (IPA)

2) nrH$m§Mr dmT>, nmofU, amoJ, VUo, IVo, H$sQ>H$ZmeHo$
1) {nH$m§À`m dmT>rgmR>r gdm©V AZwHy$b àH$me ............ Amho.

1) bmb 2) ìhm`moboQ> 3) {Zim 4) {hadm
1) The most favourable light for the growth of crops is ............

1) Red 2) Violet 3) Blue 4) Green

2) {d{dY ‘mJmªMm Adb§~ H$aUmè`m ........ àH$maÀ¶m dZñnVr (‘H$m, Ádmar, ~mOar, D$g) CO, Zo g‘¥Õ pñWVrg H$‘r
à{VgmX XoVmV.
1) C

1
2) C

2
3) C

3
4) C

4

2) The responses of ........ plants (maize, sorghum, millet, sugarcane) which follow different pathways

are less responsive to enriched CO, levels.

1) C
1

2) C
2

3) C
3

4) C
4

3) Imbrbn¡H$s H$moUVo nrH$ Ima O{‘ZrgmR>r VwbZmË‘H$ÑîQ>çm OmXm ghZerb Amho ?
1) ^mV 2) ~mbu 3) ha^am 4) ‘wim

3) Which crop, among the following, is relatively more tolerant to saline soils ?

1) Rice 2) Barley 3) Chickpea 4) Radish

4) Imbrb {nH$m§n¡H$s, {XdgmMr bm§~r R>am{dH$ ‘hÎdmÀ`m (12 Vmg) nojm H$‘r AgVmZm ’w$bUmar bhmZ {XdgmMr
dZñnVr H$moUVr?
1) gmIa ~rQ> 2) gỳ ©’y$b 3) gmò m~rZ 4) H$aS>B©

4)  Among the following crops, which is a short-day plant that flowers when the day length is less

than a certain critical length (< 12 hours) ?

1) Sugar beet 2) Sunflower 3) Soybean 4) Safflower

5) A{VOmñV ‘rR> à{VamoYH$ nrH$ :
1) ~mbu 2) ~rÝg 3) Jhÿ 4) `mn¡H$s H$mhrhr Zmhr

5) Highly salt resistant crop :

1) Barley 2) Beans 3) Wheat 4) None of these
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6) ŵB©‘wJmVrb Z ^aboë`m e|Jm (nm°ßg) ........ À`m H$‘VaVo‘wio hmoVmV.
1) nmoQ>°{e`‘ 2) H°$pëe`‘ 3) gë’$a 4) ‘°¾o{e`‘

6) Unfilled pods (pops) in groundnut are due to the deficiency of ........

1) Potassium 2) Calcium 3) Sulphur 4) Magnesium

7) H«$m°n bm°qJJ hr EH$ nÕV Amho ...
1) O{‘ZrMr gwnrH$Vm ‘yë`m§H$Z
2) {nH$mÀ`m ZwH$gmZrMo ‘yë`m§H$Z H$aUo
3) nrH$ CËnmXZmgmR>r nmofH$ VËdm§À`m JaOm§Mo ‘yë`m§H$Z H$aÊ`mgmR>r dZñnVr {dl²bofU
4) IVm§Mr `mo½`Vm VnmgUo

7) Crop logging is a method of ......

1) Soil fertility evaluation

2) Assessing crop damage

3) Plant analysis for assessing requirements of nutrients for crop production

4) Testing suitability of fertilizers

8) {~`mUo Am{U namJH$U nmbH$ `m§À`m ’w$bm§À`m g‘H«$‘Umbm ........ Ago åhUVmV.
1) W¸$ H$aUmao 2) {ZqH$J 3) namJU 4) qgH«$moZmBPoeZ

8) The synchrony in flowering of seed and pollinator parent is termed as ........

1) Staggering 2) Nicking 3) Pollination 4) Synchronization

9) IVm§‘Ü ò Agboë¶m Imbrbn¡H$s H$moUË`m Am`Z‘wio eH©$a {nH$m§‘Ü ò hmoUmam gmIaoMm g§M` à^m{dV hmoVmo?
1) ŠbmoamB©S> 2) gë’$mBQ> 3) Zm`Q´moOZ 4) gmo{S>`‘

9) In sugar crops, accumulation of sugar is affected due to which of the following ions present in

fertilizers ?

1) Chloride 2) Sulphite 3) Nitrogen 4) Sodium

10) EImÚm MmMUr à¶moJmV H$sQ>H$m§À`m 50% bmoH$g§»¶og ‘maÊ`mgmR>r Amdí`H$ Agboë¶m H$sQ>H$ZmeH$mÀ`m à‘mUmbm
...... åhUVmV.
1) RL50 2) LD50 3) 150 4) KD50

10) The concentration of insecticide required to kill 50% test population experiment of insect is

called as ......

1) RL50 2) LD50 3) 150 4) KD50

11) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
A) EH$mJ« Ho$boë`m g|{Ð` IVm§‘Ü ò dZñnVtÀ`m nmofH$ VËdm§Mr Q> o̧$dmar OmñV AgVo
~) H|$ÐrV g|{Ð` IV àmUr qH$dm dZñnVr CËnÎmrÀ`m H$ÀÀ`m ‘mbmnmgyZ ~Zdbo OmVo
H$) gm‘mÝ` H|${ÐV g|{Ð` IVo åhUOo F.Y.M. Am{U H§$nmoñQ>
`mo½` n`m©̀  {ZdS>m :
1) ’$º$ (A) 2) ’$º$ (~) 3) (A) Am{U (~) 4) (~) Am{U (H$)
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12) Among the following which statement(s) is/are correct ?

a) Concentrated organic manures contain higher percentage of plant nutrients

b) Concentrated organic manures are made from raw materials of animal or plant origin ©

c) The common concentrated organic manures are F.Y.M. and compost

Select the correct option :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) (b) and (c)

13) "BââH$mo' Z°Zmo ......... ho ^maV gaH$maZo ‘mÝ¶Vm {Xbobr Am{U IVo {Z¶§ÌU AmXoemV g‘m{dï> Agbobo EH$‘mÌ Z°Zmo
IV Amho.
1) ’$m°g 2) J§YH$ 3) ¶w[a¶m 4) OñV

13) The only Nano fertilizer approved by the Government of India and included in fertilizer control

order is 'IFFCO’ Nano ......

1) Phos 2) Sulphur 3) Urea 4) Zinc

14) H$m§Xm Am{U bgUmMo ZwH$gmZ H$aUmè`m H$sQ>H$mMo Zmd gm§Jm.
1) H$mim nV§J 2) ~J 3) {W«ßg 4) gm° âbm`

14) Name the following pest which damages Onion and Garlic.

1) Black moth 2) Bug 3) Thrips 4) Saw fly

15) nm`aoW«rZ Am{U n°S>mo‘-E ...... AmhoV.
1) qgWo{Q>H$, g|{Ð` H$sQ>H$ZmeHo$ 2) AO¡{dH$ H$sQ>H$ZmeHo$
3) Z¡g{J©H$, g|{Ð` H$sQ>H$ZmeHo$ 4) darbn¡H$s H$moUVohr Zmhr

15) Pyrethrine and Padom-A are ......

1) Synthetic, Organic insecticides 2) Inorganic insecticides

3) Natural, Organic insecticides 4) None of the above

16) Echinochloa colonum, E.Crus-gaili gmaIo VU Zoh‘r {nH$mer g§~§{YV AgVmV.......
1) Vm§Xyi 2) Ádmar 3) MUo 4) ‘H$m

16) Weeds like Echinochloa colonum, E.Crus-gaili are always associated with crop .......

1) Rice 2) Sorghum 3) Chickpea 4) Maize

17) XoemMo ‘yi Zgbobo VU ............ åhUyZ AmoiIbo OmVo.
1) ~§YZH$maH$ VU 4 2) Amjonmh© VU 3) CnJ«h VU 4) naXoer VU

17) Weed not native of a country is known as ..............

1) Obligate weed 4 2) Objectionable weed 3) Satellite weed 4) Alien weed

18) erW ãbmBQ> èhm¶Pmo³Q>mo{Z¶m gmobmZrZo (å`mZ ãbmBQ>) Z¡g{J©H$[aË`m ~m{YV Pmboë¶m ^mVmÀ`m PmS>m§Mm àmXŵ m©d hm,
........ Mo à‘mU OmñV Agboë¶m Cƒ CO2 pñWVrV OmñV hmoVm, na§Vw Ë`m‘wio å`mZ ãbmBQ>Mr Vrd«Vm dmT>ë¶mMo {XgV
Zmhr.
1) Zm`Q´moOZ 2) ’$m°ñ’$ag 3) nmoQ>°e 4) H°$pëe`‘

19) The incidence of rice plants naturally infected with sheath blight Rhizoctonia solani, was generally

higher at elevated CO2 under high ........... levels, but this does not increase sheath blight severity.

1) nitrogen 2) phosphorus 3) potash 4) calcium
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3) {nHo$, g§H$[aV d OZwH$s¶ OmVr
1) {Xgm`bm gma»`mM Agboë`m na§Vw {Xboë`m amoJmbm à{VH$ma H$aÊ`mgmR>r {^Þ OrÝg Agboë`m AZoH$ {nT>çmVrb

{~`m§Mo {‘lU H$ê$Z H$moUVr amoJà{V~§YH$ OmV V`ma Ho$br OmVo?
1) ~m`moQ>oH$ 2) ‘ëQ>rbmBZ 3) hm`{~«S> 4) darb gd©

l) Which variety is usually created by mixing seeds of several lines that are similar in appearance

but have different genes for resistance to a given disease ?

1) Biotech 2) Multiline 3) Hybrid 4) All of the above

2) Imbrbn¡H$s {nH$mMr H$moUVr OmV hr ~m`mo’$mo{Q©>’$mBS> S>mqi~/hm`~«rS> OmV Amho?
1) ‘¥Xwbm 2) gmobmnya bmb 3) ^Jdm 4) JUoe

2) Which of the following is a biofortified pomegranate variety/hybrid ?

1) Mridula 2) Solapur Lal 3) Bhagwa 4) Ganesh

3) "~mobJmS>©' ho n{hë¶m ì¶mdgm{¶H$ H$sQ>H$-amoYH$ ........... Mo CXmhaU hmo¶.
1) H$mnyg 2) ‘H$m 3) V§~mIy 4) Q>mo‘°Q>mo

3) ‘Bollgard’ is an example of the first commercial pest resistant variety of ......

1) Cotton 2) Maize 3) Tobacco 4) Tomato

4) Imbrbn¡H$s H$moUVo ^maVmMo n{hbo Ì¶amoJà{VamoYr nrH$ Amho ?
1) D$g 2) dmQ>mUm 3) Q>mo‘°Q>mo 4) Ádmar

4) Which one of the following is India's first triple disease resistant crop ?

1) Sugarcane 2) Pea 3) Tomato 4) Sorghum

4) ŷg§YmaU d ‘emJV V§ÌkmZ
1) Am§Vaamï´>r¶ ‘¥X emó gmogm¶Q>r à‘m{UV dJuH$aUmZwgma {MH$U‘mVr H$Um§Mm ì¶mg .............. Amho.

1) 0.002 {‘.{‘. nojm H$‘r 2) 0.002 Vo 0.05 {‘.{‘.
3) 0.001 Vo 0.01 {‘.{‘. 4) 0.007 Vo 0.09 {‘.{‘.

1) The diameter of clay particles as per the International Soil Science Society Standards classifi-

cation is .......

1) Less than 0.002 mm 2) 0.002 — 0.05 mzs

3) 0.001 — 0-01 mm 4) 0.007 — 0.09 mm

2) O‘rZ j‘VoÀ`m dJuH$aUmZwgma ............. O‘rZ dÝ`Ord Am{U nmUbmoQ>mgmR>r `mo½` Amho.
1) dJ©-VI 2) dJ©-VII 3) dJ©-VIII 4) dJ©-VI Am{U VII

2) According to land capability classification ............. land is suitable for wildlife and watershed.

1) Class VI 2) Class VII 3) Class VIII 4) Class VI and VII
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3) ‘mVrMr T>mo~i KZVm =

1)    ‘mVrÀ¶m dñVw‘mZmMo dOZ   . 2)        ‘mVrMo à‘mU       .
         ‘mVrMo AmH$ma‘mZ                         ‘mVrÀ¶m dñVw‘mZmMo dOZ

3)     {gëS>S>m`‘rQ>a   . 4) darbn¡H$s H$mhrhr Zmhr
       ‘mVrMo dñVw‘mZ

3) Bulk density of soil =

1)
    wt. of soil mass   .

2)
       soil volume        ..

        soil volume          wt. of soil mass

3)
   Seildiameter  .

4)
 
None of the above

        soil mass

4)  USLE ho EH$ ..... Amho.
a) g§H$ënZmË‘H$ ‘m°S>ob b) à{H«$`m-AmYm[aV ‘m°S>ob
c) AZŵ dOÝ` ‘m°S>ob d) darbn¡H$s H$mhrhr Zmhr
n¶m©¶r CÎmao :
1) a and b 2) a, b and d 3) d only 4) c only

4) The USLE is a .....

a) Conceptual Model b) Process-Based Model

c) Empirical Model d) None of the above

Answer options :

1) a and b 2) a, b and d 3) d only 4) c only

5) Imbrbn¡H$s H$moUVr O‘rZ ^aÊ`mMr nÕV Zmhr?
1) joÌ nÕV 2) I§XH$ nÕV 3) ~§Jbmoa nÕV 4) a°ån nÕV

5) Which of the following is not the land filling method ?

1) Area method 2) Trench method

3) Bangalore method 4) Ramp method

6) OmoS>çm bmdm.
g§km                                g§~§Y

a) noQ´>mobm°Or i) ‘¥XoMr CËnÎmr, gd}jU d dJuH$aU
b) BS>°’$mobm°Or ii) n¥ÏdrÀ¶m n¥ð>^mJmdarb Z¡g{J©H$ AmdaU (Wa) Á¶mV dZñnVrMr dmT> hmoVo
c) noS>m°bm°Or iii) IS>H$mMo {dkmZ
d) ‘¥Xm iv) Cƒ dZñnVrÀ¶m Ñ{ï>H$moZmVyZ ‘¥Xm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (i) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)
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6) Match the following :

Term Relation

a) Petrology i) Genesis, survey and classification of soil

b) Edaphology ii) Natural body on the Earth's surface in which the plant grows

c) Pedology iii) Science of rocks

d) Soil iv) Soils from standpoint of higher plants

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (i) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)

7) ‘mVrMr AmåbVm Am{U ‘mVrÀ`m H$mobm°BS²ger hm`S´moOZ d A°ë ẁ{‘{Z`‘Mm Agbobm g§~§Y àm‘w»`mZo XmoZ àH$maÀ`m
F$U ^mam§Zr à^m{dV hmoVmo. ho ...... AmhoV:
A) H$m`‘ñdê$nr Am{U pH Adb§~yZ
~) Ad{eï> Am{U g{H«$`
H$) g|{Ð` H$mobmBS> Am{U AO¡{dH$ H$mobmBS>
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) ’$º$ (~) 3) ’$º$ (H$) 4) (A) Am{U (H$)

7) The soil acidity and association of hydrogen and aluminium with soil colloids is mainly influenced

by two types of negative charges. These are :

a) Permanent and pH dependent

b) Residual and Active

c) Organic colloids and inorganic colloids

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) (a) and (c)

8) ‘mVr V`ma H$aÊ`mMr Aer à{H«$`m H$s Á`m‘Ü ò øy‘g Am{U goñŠdrAm°ŠgmBS> ‘¥XoÀ¶m daÀ¶m WamVyZ ~mhoa nS>VmV
Am{U ‘¥XoÀ¶m ImbÀ`m WamV O‘m hmoVmV, Va {g{bH$m ‘¥XoÀ¶m daÀ¶m WamVM gpåMV hmoVo.....
1) H°$ëgr{’$Ho$eZ 2) boQ>am`PoeZ
3) nm°S>Pmobm`PoeZ 4) bdUrH$aU

8) The soil forming process in which humus and sesquioxides become mobile, leach out from the

upper horizons and get deposited into lower horizons, while silica remains accumulated in upper

horizon.

1) Calcification 2) Laterization

3) Podzolization 4) Salinization

9) O{‘ZrÀ¶m YZ{dÚwV ^marV H$Um§À¶m AXbm~XbrMo à‘mU O{‘ZrV (‘mVrV) .......... ¶mMo à‘mU dmT>ë¶mg dmT>Vo.
a) dmiy b) nmo¶Q>m c) {MH$U H$U
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) ¶mn¡H$s Zmhr
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9) The Cation Exchange Capacity (CEC) increases with increase in content of the soil.

a) sand b) silt c) clay

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) None of these

10) OmoS>çm bmdm …
‘¥Xm {j{VO nXZm‘                g§{já dU©Z
a) Oe i) ‘emJV qH$dm BVa CbWmnmbW
b) Bz ii) {Oßg‘Mm g§M¶
c) Cy iii) {Oßg‘nojm OmñV {dÐmì¶ jmam§Mm g§M¶
d) Ap iv) {dKQ>rV g|Ðr¶ nXmW©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)

10) Match the following :

Soil horizon designation            Brief description

a) Oe i) Village or other disturbances

b) Bz ii) Accumulation of gypsum

c) Cy iii) Accumulation of salts more soluble than gypsum

d) Ap iv) Decomposed organic matter

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)

11) AY©-pñWa bhmZ JwR>ù`m§er OmoS>bobo ‘mVrMo H$U ........... åhUyZ AmoiIbo OmVmV.
1) {demb 2) noS²g 3) ñV§̂ 4) ãbm°H$s

11) The soil particles associated in quasi-stable small clods are known as ...........

1) Massive 2) Peds 3) Columnar 4) Blocky

12) Imbrbn¡H$s H$moUVo nXmW© ‘mVrMo KQ>H$ AmhoV ?
a) XJS> JmoQ>o d dmiy b) ~marH$ ‘mVr d Hw$Obobo nXmW©
c) amgm¶{ZH$ nXmW© d) a§JÐì¶o
n¶m©¶r CÎmao …
1) ’$º$ (c) Am{U (d) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b), (c) Am{U (d) n¡H$s Zmhr
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12) Which of the following substances are components of soil?

a) Stones and sand b) Fine soil and decomposed matter

c) Chemical substances d) Colour substances (Dyes)

Answer Options :

1) Only (c) and (d) 2) Only (a) and (b)

3) (a), (b), (c) and (d) 4) None of (a), (b), (c) and (d)

13) Imbrbn¡H$s H$moUVm Zm§Ja ‘w»`V… H$S>H$ Vdm VmoS>Ê`mgmR>r Am{U Imob Zm§JaUrgmR>r (60-70 go‘r) daÀ`m Wam§Zm
H$‘r AS>Wim AmUÊ`mgmR>r dmnabm OmVmo?
1) O{‘ZrMm Zm§Ja 2) {N>Þr Zm§Ja 3) Zm§Ja 4) amoQ>ar Zm§Ja

13) Which of the following plough is mainly used for breaking hard pan and for deep ploughing (60-

70 cm) with less disturbance to the top layers ?

1) Subsoil plough 2) Chisel plough 3) Ridge plough 4) Rotary plough

5) Obg§YmaU d nmUr ì`dñWmnZ
1) H§$Qy>a ~§qS>J Ë`m ^mJm§gmR>r `mo½` Amho, Á`mV ...... n ª̀V dm{f©H$ nmD$g nS>Vmo.

1) 800 {‘‘r 2) 1000 {‘‘r 3) 600 {‘‘r 4) darbn¡H$s H$mhrhr Zmhr
1) Contour bunding is suitable for those areas, which receive the annual rainfall upto ......

1) 800 mm 2) 1000 mm 3) 600 mm 4) None of the above

2) H$mbì`mÀ`m ‘mÏ`mda 20 Š ẁ‘oH$ XamZo nmUr gmoS>bo OmVo. Oa B[aJoeZ Sw>Q>r 1000 hoŠQ>a/Š ỳ‘oH$ Agob Am{U
g§H«$‘Um‘Ü ò nmÊ`mMr hmZr 25% hmoV Agob, Va qgMZmgmR>r O{‘ZrMo joÌ {H$Vr?
1) 10,000 hoŠQ>a 2) 12,500 hoŠQ>a 3) 15,000 hoŠQ>a 4) 17,500 hoŠQ>a

2) The water is released at the rate of 20 cumec at the head of a canal. If the duty at the field is 1000

Ha/cumec and loss of water in transit is 25%, what would be the area of land that can be irrigated?

1) 10,000 Ha 2) 12,500 Ha 3) 15,000 Ha 4) 17,500 Ha

3) Imbrb Owidm :
JQ> "A'                  JQ> "~'

a) gr. B©. am‘goa I) nmUbmoQ>mVrb gdm©V XwJ©‘ q~Xy
b) {WgoZ II) aZAm°’$‘Ü ò JmimMm ^ma
c) EH$mJ«VoMr doi III) VH©$ewÕ gyÌ
d) H$m°em°ŠQ>moZ ìhrb g°ånba IV) nmdgmMr gamgar
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) IV III II I

2) III IV I II

3) II III IV I

4) III I IV II
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3) Match the followings :

Group ‘A’                 Group ‘B’

a) C.E. Ramser I) Most remote point in watershed

b) Thiessen II) Sediment load in runoff

c) Time of concentrate II) Rational formula

d0 Coshocton wheel sampler TV) Average depth of Rainfall

Answer options :

(a) (b) (c) (d)

1) IV III II I

2) III IV I II

3) II III IV I

4) III I IV II

4) ‘Š`mÀ`m qgMZmgmR>r gdm©V J§̂ ra dmT>rMo Q>ßno ........... AmhoV.
1) Q>goqbJ Am{U {gbqH$J 2) aoer‘ Am{U H${UH$
3) bdH$a dZñn{Vd¥Õr Am{U H${UH$ 4) qMMmoir Am{U nrR>

4) Most critical growth stages for irrigation in maize are ...........

1) Tasseling and Silking 2) Silking and Dough

3) Early vegetative growth and Dough 4) Tasseling and Dough

5) ãboZr-{H«$S>b nÕV hr ......... Mm A§XmO H$mT>Ê`mgmR>r gdm©V kmV à{H«$`m§n¡H$s EH$ Amho.
A) ~mînmoËgO©Z ~) g§̂ mì`-~mînr^dZ H$) ~mînr^dZ S>) ~mînr^dZ
n¶m©¶r CÎmao :
1) ~ ’$º$ 2) A Am{U H$ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

5) Blaney-Criddle method is one of the best known procedures for estimating ....

a) Transpiration b) Potential-evapotranspiration

c) Evaporation d) Evapotranspiration

Answer options :

1) b only 2) a and c only 3) c and d only 4) d only

6) eoVr‘Ü¶o ŷJ^m©Vrc ŷOc Imcrcn¡H$s H$moUË¶m KQ>H$m‘Ü¶o nmPaVo ?
1) H$mcdo 2) {dhra 3) Vcmd 4)Q>mH$s

6) In Agriculture, groundwater is tapped by

1) canals 2) sinking wells 3) ponds 4) tanks

7) qgMZ nÕVr Am{U {VMo ¶mo½¶ dmnajoÌ ¶m~m~V AMyH$ OmoS>çm Owidm :
a) MoH$ âb{S>§J 1) PmS>m§À`m Amoit‘Yrb Aé§X I§XH$
b) gar nÕV 2) nmÊ`mMm àX{jUm ‘mJ©
c) g‘moƒ eoVr 3) H$‘r Am{U gnmQ> boìhrOMm dmna
d) {PJ-P°J nÕV 4) S>m|Jami joÌ
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) 3 2 4 1

2) 3 1 4 2

3) 3 1 2 4

4) 1 3 2  4

7) Match the pair for suitability of method of irrigation.

a) Check flooding 1) Narrow ditch between rows of plants

b) Furrow method 2) Circuitous route of water

c) Contour farming 3) Low and flat levees used

d) Zig-zag method 4) Hilly area

Answer Options :

(a) (b) (c) (d)

1) 3 2 4 1

2) 3 1 4 2

3) 3 1 2 4

4) 1 3 2  4

8) d¡Ym{ZH$ AmYmamda ‘¥X g§dY©Z Am{U g§~§{YV CnH«$‘ hmVr KoUmam ^maVmVrb n{hbm ZXr KmQ>r {ZJ‘ àH$ën H$moUVm
hmoVm?
1) Xm‘moXa ìh°br H$m°nm}aoeZ 2) H¥$îUm ìh°br H$m°nm}aoeZ
3) J§Jm ìh°br H$m°nm}aoeZ 4) darbn¡H$s H$mhrhr Zmhr

8) Which was the first river Valley Corporation Project in India to take up soil conservation and the

relative activities on a statutory basis ?

1) Damodar Valley Corporation 2) Krishna Valley Corporation

3) Ganga Valley Corporation 4) None of the above

9) ImanmU nQ²>Q>çmVrb eoVrVrb qgMZm‘wio {nH$m§À¶m CËnmXZmda n[aUm‘ hmoÊ¶mMr H$maUo åhUOo …
a) O{‘ZrÀ¶m nmoVmÀ¶m {ZH¥$ï> XOm©‘wio b) {nH$m§Mr dmT> Iw§Q>ë¶m‘wio
c) nmZm§À¶m {ndionUm‘wio d) O{‘ZrVrb jmam§À¶m g§M¶m‘wio
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (c) ’$º$ 4) (a) Am{U (d) ’$º$

9) Irrigation in the fields of saline tract affects the productivity of crops because of :

a) Degradation of soil structure b) Growth inhibition of plants

c) Leaf discolouration d) Salt accumulation in soil

Which of the given above statement/statements is/are correct ?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) only 4) (a) and (d) only

10) nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘ gwê$ H$aÊ`mgmR>r H$moUVr ‘yb ŷV ‘m{hVr Amdûm`H$ Amho?
A) nO©Ý¶{df¶H$ AmH$S>odmar ~) bmoH$g§»`m Am{U newYZmMr AmH$S>odmar
H$) Q>mH$s, {dhra B. gmaIo CnbãY ObòmoV S>) ñWbmH¥${V
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (A), (H$) Am{U (S>) ’$º$ 4) (A), (~), (H$) Am{U (S>)
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10) Which basic information is necessary to start the Watershed Management Programme ?

a) Data on rainfall b) Statistics of population and livestock

c) Existing water sources like tank, well etc. d) Topography

Answer Options :

1) (a) only 2) (a) and (c) only

3) (a), (c) and (d) only 4) (a), (b), (c) and (d)

11) Imbrbn¡H$s H$moUVo gd© nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘m§Mo C{Ôï> AmhoV?
1) nmdgmÀ`m nmÊ`mMm O{‘ZrV {eaH$md dmT>dUo
2) Obàdmhm‘wio hmoUmao ZwH$gmZ {Z §̀{ÌV H$aUo
3) Cn ẁº$ H$maUm§gmR>r Obàdmh ì`dñWm{nV H$aUo Am{U dmnaUo
4) darb gd©

11) Which of the following are the objectives of all watershed management programmes ?

1) To increase infiltration of rainwater into the soil

2) To control damage by runoff

3) To manage and utilize runoff for useful purposes

4) All of the above

12) Q>oaogMr bm§~r pñWa qH$dm n[adV©Zr` loUr AgVo Am{U gwa{jV doJmV OmñVrMo nmUr dmhÿZ ZoÊ`mgmR>r dmnabr OmVo......
1) boìhb Q>oaog 2) J«oS>oS> Q>oaog 3) ~|M Q>oaog 4) darbn¡H$s Zmhr

12) A terrace has a constant or variable grade along its length and used to convey the excess water at

a safe velocity is ......

1) Level terrace 2) Graded terrace 3) Bench terrace 4) None of the above

13) {nH$m§À`m ê$Q> PmoZ‘Ü ò gmR>dboë`m nmÊ`mMo à‘mU Am{U àË`jmV eoVmV {Xbobo nmUr ̀ mÀ`m JwUmoÎmambm ..... åhUVmV.
1) nmUr {dVaUmMr H$m ©̀j‘Vm 2) nmUr gmR>dUwH$sMr H$m ©̀j‘Vm
3) nmUr dmnamMr H$m ©̀j‘Vm 4) nmUr dmnamMr H$m ©̀j‘Vm

13) The ratio of the quantity of water stored in the root zone of the crops to the quantity of water

actually delivered in to the field, is called .........

1) efficiency of water distribution 2) efficiency of water storage

3) efficiency of water use 4) efficiency of water application

14) ‘mVrÀ`m H$Um§̂ modVr nmVi {’$ë‘ åhUyZ KÅ> Yaboë`m nmÊ`mbm ........... åhUVmV.
1) JwéËdr` nmUr 2) Ho${eH$m nmUr 3) hm`J«moñH$mo{nH$ nmUr 4) joÌ j‘Vm

14) Water held tightly as thin film around the soil particles that cannot be used by plants is called .......

1) Gravitational water 2) Capillary water 3) Hygroscopic water 4) Field capacity

15) JwéËdmH$f©U YaUmÀ`m ~m~VrV, Ooìhm Obme` ^abobm AgVmo, Voìhm OmñVrV OmñV Xm~mMm VmU .... ¶oWo AgVmo.
1) YaUmÀ¶m ~moQ>moH$S>rb ^mJ 2) YaUmÀ¶m nm`mMm ‘Ybm 1/3 ^mJ
3) YaUmÀ¶m nm`mMm ‘Ü¶q~Xÿ 4) YaUmÀ¶m Q>mMoH$S>rb ^mJ

15) In case of gravity dam, when the reservoir is full, the maximum compressive stresses are at ....

1) Toe of dam 2) Middle 1/3 of toe of dam

3) The mid point of the base of the dam 4) The heel area of the dam
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(12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶,
’$bmoËnmXZ

1) newnmbZ d Xw½Yì`dgm`
2) Hw$ w̧$Q>nmbZ
3) ‘Ëñ¶ì¶dgm¶
4) ’$bmoËnmXZ

1) newnmbZ d Xw½Yì`dgm`
1) H¥${Ì‘ aoVZ à{H«$¶oÀ¶mdoir J^m©YmZ JZ (insemination gun) R>odÊ`mgmR>r Imbrbn¡H$s `mo½` H$moZ H$moUVm Amho?

1) 300 2) 600 2) 900 2) 1800

1) Which of the following is the correct angle for holding the insemination gun at the time of AI?

1) 300 2) 600 2) 900 2) 1800

2) [aº$ OmJm ^aÊ`mgmR>r `mo½` n`m©̀  {ZdS>m.
newYZ JUZm 2019 Zwgma, gw‘mao .............. H$moQ>r newYZmgh ‘hmamï´> gmVì`m H«$‘m§H$mda Amho.
1) 5-50 2) 250 3) 3-31 4) 1:25

2) Select the correct option to fill in the blank.

As per Livestock Census 2019, Maharashtra ranks seventh with livestock of about ............. crores.

1) 5-50 2) 250 3) 3-31 4) 1:25

3) ...... Xaå`mZÀ`m Vmn‘mZmV H$mobmoñQ´‘ {Xë`mg Ë`mMr nMZj‘Vm dmT>Vo.
1) 790F Am{U 820F 2) 890F Am{U 920F 3) 990F Am{U 1020F 4) 1090F Am{U 1120F

3) The digestibility of colostrum increases when it is given at temperature between ......

1) 790F and 820F 2) 890F and 920F 3) 990F and 1020F 4) 1090F and 1120F

4) ~¡bm§Mo dr ©̀ Jmoim H$aVmZm H¥${Ì‘ `moZrMo AmVrb Vmn‘mZ ............ À`m Xaå`mZ Agmdo.
1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

4) During semen collection of bulls the inner temperature of Artificial Vagina should be

between..........

1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

5) eoù`m§À`m dOZmZwgma X¡Z§{XZ H$moaS>çm nXmWm©Mr Amdûm`H$Vm Imbrbn¡H$s H$moUVr Amho?
1) 10 Vo 15% 2) 8 Vo 10% 3) 20 Vo 25% 4) 3 Vo 5%

5) Which of the following is the daily dry matter requirement as per weight in goats ?

1) 10 to 15% 2) 8 to 10% 3) 20 to 25% 4) 3 to 5%

6) Imbrb Jmoï>r Owidm:
g§H$[aV OmVr   ‘yi amÁ`
A) I[a`ma i) CÎma àXoe
~) IoarJS> ii) H$Zm©Q>H$
H$) H¥$îUm Imoao iii) Vm{‘iZmSy>
S>) H§$J`‘ iv) Amo{S>em
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n¶m©¶r CÎmao :
(A) (~) (H$) (S>)

1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

6) Match the following :

 Breed Origin (state)

a) Khariar i) Uttar Pradesh

b) Kherigarh ii) Karnataka

c) Krishna valley ii) Tamil Nadu

d) Kangayam iv) Odisha

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

7) Imbrb {dYmZo {dMmamV ¿¶m …
a) newJUZm 2019 Zwgma amÁ¶mV gw‘mao 3.31 H$moQ>r newYZ hmoVo.
b) newYZmÀ¶m ~m~VrV amÁ¶mMm XoemV gmVdm H«$‘m§H$ Amho.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) ’$º$ (b) 3) ’$º$ (a) 4) darbn¡H$s Zmhr

7) Consider the following statements :

a) According to the Livestock Census 2019, the State has about 3.31 crores of its total livestock.

b) The State ranks seventh in the country in terms of livestock.

Which of the statements given above is/are correct ?

1) (a) and (b) 2) Only (b) 3) Only (a) 4) None of the above

8) àOZZ h§Jm‘mÀ`m AJXr AmYr Am{U Xaå`mZ ‘mXr àmÊ`m§Zm Cƒ COm© Amhma XoUo ¶mbm .......... åhUVmV.
1) ñQ>rq‘J An 2) âbqeJ 3) brqMJ 4) J«oqS>J An

8) Offering high energy feeds to female animals just before and during breeding season is termed as

1) Steaming up 2) Flushing 3) Leaching 4) Grading up

9) TDN hm eãX é{‘Z°Q> àmÊ`m§gmR>r ...... Xe©{dÊ`mgmR>r dmnabm OmVmo.
1) nMZj‘Vm 2) D$Om© ‘yë` 3) AO¡{dH$ nXmW© 4) Iao à{WZo gm‘J«r

9) The term TDN is used to indicate ...... of feed for ruminat animals.

1) Digestibility 2) Energy value 3) Inorganic matter 4) True protein content

10) ñdXoer JmB©-Jwam§À¶m OmVrÀ¶m g§dY©ZmgmR>r {dH${gV H$aÊ¶mV Ambobr B§{S>Jmo {Mn hr ^maVmMr n{hbr ........... ¶mda
AmYmarV {Mn Amho.
1) Ebm¶Pm 2) EH$b Ý¶wp³b¶moQ>mBS> ~hþê$nVm
3) ‘m¶H«$mo g°Q>obmB©Q> d¡{dÜ¶ 4) nm°{c‘m°{’©$H$ nwZamd¥Îmr¶wº$ ‘ybÐì¶
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10) IndiGau Chip is India's first ...... based chip which has been developed for conservation of pure

varieties of indigenous cattle breeds.

1) ELISA 2) Single nucleotide polymorphism

3) Micro satellite variation 4) Polymorphic repetitive elements

11) ............. Jm`t‘Ü ò «̂yU hñVm§VaUmgmR>r gwnaAmoìhþboeZgmR>r hm‘m}ZMm dmna Ho$bm OmVmo.
1) ë¶wQ>oZm¶qPJ hm‘m}Z 2) BñQ´>m°OoZ
3) àmoOoñQ>oam°Z 4) ’$m°{bH$b pñQ>å¶wboqQ>J hm‘m}Z

11) ............... hormone is used for superovulation in cows for embryo transfer.

1) Luteinising hormone 2) Oestrogen

3) Progesterone 4) Follicle stimulating hormone

12) ad§W H$aUmè¶m new‘Ü¶o Zm°Z-àmoQ>rZ Zm`Q´moOZ ẁº$ ómoVm§Mm `eñdrnUo dmna Ho$bm OmV Amho .......
A) A‘mo{Z`‘ EgrQ>oQ ~) A‘mo{Z`‘ ~m`H$m~m}ZoQ> H$) A‘mo{Z`‘ H$m~m}ZoQ> S>) A‘mo{Z`‘ b¡ŠQ>oQ>
n¶m©¶r CÎmao :
1) A Am{U S> ’$º$ 2) A Am{U ~ ’$º$ 3) A Am{U H$ ’$º$ 4) darb gd©

12) Non-protein nitrogenous sources being used successfully for ruminants are -

a) Ammonium acetate b) Ammonium bicarbonate

c) Ammonium carbonate d) Ammonium lactate

Answer options :

1) a and d only 2) a and b only 3) a and c only 4) All of the above

13) {haì`m Mmè`mÀ`m VwbZoV gm`boO‘Ü ò nmofH$ ‘yë`m§Mo H$mhr à‘mUmV ZwH$gmZ hmoVo.
A) gmIaoMo b¡pŠQ>H$ E°{gS>‘Ü ò ê$nm§Va ~) Am§~Q> Md {Z‘m©U H$aUo
H$) n¥ð>^mJ Iam~ hmoUo S>) {H$ÊdZ Am{U JiVr
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) A, ~ Am{U H$ 4) darb gd©

13) As compared to green fodder, there is some loss of nutritive value in silage by .......

a) the conversion of sugars into lactic acid b) producing a sour taste

c) surface spoilage d) fermentation and seepage

Answer options :

1) a and b 2) b and c 3) a, b and c 4) All of the above

14) ^maVr` newd¡ÚH$s` n[afX ............. hmVmiVo
A) newd¡ÚH$s` gamdmMo {Z`‘Z. ~) newd¡ÚH$s` ì`mdgm{`H$m§À`m a{OñQ>g©Mr XoI^mb H$aUo.
H$) Ë`mÀ`mer g§~§{YV qH$dm Ë`mÀ`mer g§~§{YV ~m~r. S>) newd¡ÚH$s` Am¡fY.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) ’$º$ S>

14) The Veterinary Council of India deals with

a) the regulation of veterinary practice.

b) maintenance of registers of veterinary practitioners.

c) matters connected therewith or ancillary thereto.

d) Veterinary medicine.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) d only
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2) Hw$ w̧$Q>nmbZ
1) A§S>r {dH${gV hmoÊ`mgmR>r bmJUmè`m A§XmOo doioer AmopìhS>ŠQ>Mo ^mJ Owidm.

A) BÝ’§${S>~wb‘ i) 21 Vmg
~) ‘°¾‘ ii) 1 Vmg 15 {‘{ZQ>o
H$) BñW‘g iii) 3 Vmg
S>) J^m©e` iv) 15 {‘{ZQ>o
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)

1) Match the parts of oviduct with approximate time taken for developing egg to pass through it.

a) Infundibulum i) 21 hours

b) Magnum ii) 1 hour and 15 minutes

c) Isthmus iii) 3 hours

d) Uterus iv) 15 minutes

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)

2) Hw$ w̧$Q>m§À`m àOmVr Ë`m§À`m àmUremór` Zmdm§er Owidm.
A) njr i) J°bg S>mo‘opñQ>H$g
~) VwH$r© ii) AZmg ßb°{Q>{gÝH$mog
H$) ~XH$ iii) ‘oboJoar¶m J°bonmodm
S>) Oo. ¹o$b iv) H$moQw>{Z©g H$moQw>{Z©g Omnmo{ZH$m
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (i) (iii) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (iv) (i)

2) Match the species of poultry with their zoological names.

a) Fowl i) Gallus domesticus

b) Turkey ii) Anas platysynchos

c) Duck iii) Meleagria gallopavo

d) J. Quail iv) Coturnix coturnix japonica

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (i) (iii) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (iv) (i)
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3) H$m|~S>rÀ`m OmVr Ë`m§À`m dJm©er Owidm Am{U `mo½` n`m©̀  {ZdS>m.
{MH$Z OmVr          dJ©
A) boJhm°Z© i) B§J«Or dJ©
~) AmoF$qn½Q>Z ii) ŷ‘Ü` dJ©
H$) Ý ỳ h°ånem`a iii) E{e`m{Q>H$ dJ©
S>) ~«åhm iv) A‘o[aH$Z dJ©
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (i) (iv) (iii)

3) Match the breeds of chicken with their classes and select correct option.

Breeds of Chicken        Classes

a) Leghorn i) English class

b) Orpington ii) Mediterranean class

c) New Hampshire iii) Asiatic class

d) Brahma iv) American class

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (i) (iv) (iii)

4) H$m|~S>rZo gbJ {Xdg A§Va Z R>odVm {Xboë`m A§S>çm§À`m g§» òbm ........ åhUVmV
1) nm°P 2) na{gñQ>Ýgr 3) ŠbM 4) darbn¡H$s H$mhrhr Zmhr

4) The number of eggs laid by hen on consecutive days without gap is called as ......

1) Pause 2) Persistency 3) Clutch 4) None of above

3) ‘Ëñ¶ì¶dgm¶
1) Xw½Y‘Ëñ`nmbZmgmR>r ~m§YÊ`mV Ambobm Vbmd ......... åhUyZ AmoiIbm OmVmo.

A) 'ñQ>çy' Vbmd ~) 'JmS>©Z' Vbmd H$) 'aogdo' Vbmd S>) 'Vm§~H$' Vbmd
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

1) Pond constructed for milk fish culture is known as ..........

a) ‘Stew’ pond b) ‘Garden’ pond c) ‘Raceway’ pond d) ‘Tambak’ pond

Answer options :

1) Only a 2) a and b only 3) c only 4) d only



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 66

For Private Circulation Only

2) Imbrbn¡H$s H$moUVo A±{Q>~m`mo{Q>Šg Am{U BVa ’$m‘m©H$mobm°{OH$b g{H«$` nXmWmªda H$moi§~r ‘Ëñ¶nmbZmV dmnaÊ`mgmR>r
OrAmoE‘Zo ~§Xr KmVbr Amho?
A) Neomycin ~) Šbmoamo’$m°‘© H$) Glycopeptides S>) Dapsene

n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) S> ’$º$ 3) ~ ’$º$ 4) A, ~, H$ Am{U S>

2) Which of following antibiotics and other pharmacologically active substances is/are banned by

GoM for use in shrimp aquaculture ?

a) Neomycin b) Chloroform c) Glycopeptides d) Dapsene

Answer Options :

1) a and b only 2) d only 3) b only 4) a, b, c and d

4) ’$bmoËnmXZ
1) nm°brhmD$g‘Ü ò, {Xdgm Cƒ àH$memÀ`m Vrd«VoV Am{U 14°C Vo 15°C gopëgAg Vmn‘mZ loUr‘Ü ò, H$m~©Z S>m`

Am°ŠgmB©S> Mo à‘mU......... nrnrE‘‘Ü ò amIë`mg gdm}Îm‘ H$mZ}eZ ’w$bo V`ma Ho$br OmD$ eH$VmV.
1) 300 2) 500 3) 700 4) 900

1) Best carnation flowers can be produced when carbon dioxide concentration in polyhouse is

maintained at ................. ppm during day time under high light intensity and temperature range of

14°C to 15°C.

1) 300 2) 500 3) 700 4) 900

2) ìh°Š ỳ‘‘Yrb {ZO©brH$aUm‘wio ’$im§‘Yrb Amobmdm ...... n ª̀V H$‘r hmoVmo.
1) 1-3% 2) 3-5% 3) 5-7% 4) 7-9%

2) Dehydration in vacuum can bring down the moisture content of fruits to .......

1) 1-3% 2) 3-5% 3) 5-7% 4) 7-9%

3) Ho$irVrb ‘mXr Q>ßnm nyU© Pmë`mZ§Va Za H$ir H$mT>Uo `mbm ............ åhUVmV.
1) qnqMJ 2) S>oZoìhqbJ 3) ‘°Q>m°qH$J 4) {S>gH$[a¨J

3) Removal of male bud after completion of female phase in banana is called ............

1) Pinching 2) Denavelling 3) Mattocking 4) Desuckering

4) H±$S>r ¹$sZ hr A±Ww[a`‘Mr............ a§JrV OmV Amho.
1) bmb 2) Jwbm~r 3) nm§T>am 4) Ho$ear

4) Candy queen is the ............ coloured variety of anthurium.

1) Red 2) Pink 3) White 4) Orange

5) H$moaS>çm V¥UYmÝ`m§À`m {‘lUmV Eamo{~H$ ~°ŠQ>o[a`mMr g§»`m .............. Amho.
1) 102 Vo 105 à{V J«°‘ 2) 102 Vo 108 à{V J«°‘
3) 102 Vo 104 à{V J«°‘ 4) 102 Vo 108 à{V J«°‘

5) The aerobic plate count of bacteria in dry cereal mixes is .................

1) 102 to 105 per gram 2) 102 to 108 per gram

3) 102 to 104 per gram 4) 102 to 108 per gram
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6) YmÝ`mÀ`m Z‘wÝ`mÀ`m Amobmdm ‘moOÊ`mÀ`m WoQ> nÕVr H$moUË`m AmhoV?
A) {dÚwV à{VamoYH$ ~) S>m`bopŠQ´H$ nÕV
H$) EAa-AmoìhZ S´mq`J S>) {S>pñQ>boeZ
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) H$ Am{U S>

6) Which are the direct methods of moisture measurement of the grain sample ?

a) Electrical resistance b) Dielectric method

c) Air-oven drying d) Distillation

Answer options :

1) a and b 2) b and c 3) a and c 4) c and d

7) {~`m§Mo AmdaU ’$moS>Uo, IaMQ>Uo, `m§{ÌH$[aË`m ~XbUo qH$dm ‘D$ H$aUo `m à{H«$ òbm nmUr Am{U dm ỳ§Zm {PanÊ`m`mo½`
~Z{dÊ`mMr à{H«$`m ...........åhUyZ AmoiIbr OmVo.
1) ~rOà{H«$`m 2) {~`mUo ’o$a~Xb 3) {~`mUo ì`dhm ©̀Vm 4) ñH$m[a{’$Ho$eZ

7) The process of breaking, scratching, mechanically altering or softening the seed coats to make

them permeable to water and gases is known as ..............

1) seed treatment 2) seed alteration 3) seed viability 4) scarification

_______
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(13) noer{dkmZ d M¶mnM¶Z
1) noer d noerKQ>H$
2) OZwHo$, a§JgyÌo d AZwdm§{eH$Vm
3) O¡dV§ÌkmZ
4) noer M¶mnMZ
5) gyú‘Ord

1) noer d noerKQ>H$
1) Imbrbn¡H$s H$moUË¶m noer KQ>H$m^modVr nQ>b (AmdaU) ZgVo?

1) ³bmoamoßbmñQ> 2) am¶~moPmo‘ 3) ‘m¶Q>moH$m°pÝS´>¶m 4) cm`gmogmo‘
1) Which of the following cell organelle is not bounded by membrane?

1) Chloroplast 2) Ribosome 3) Mitochondria 4) Lysosomes

2) Imbrbn¡H$s H$moUVo {ZAmoßbmP‘Mo d¡{eï²>` Zmhr?
1) ßbo‘mo{’©$Á‘ 2) A°Zmßbm{g`m 3) ‘m`Q>mo{gg 4) {S>gßbo{g`m

2) Which of the following is not a feature of neoplasm?

1) Pleomorphism 2) Anaplasia 3) Mitosis 4) Dysplasia

2) OZwHo$, a§JgyÌo d AZwdm§{eH$Vm
1) H«$mo‘mogmoågMr g§»`m XwßnQ> H$aÊ`mgmR>r H$mopëM{gZMm dmna Ho$bm OmD$ eH$Vmo hm emoY emókmer g§~§{YV Amho.........

1) {dëgZ 2) ‘m°J©Z 3) ãboH$ñbr 4) n|Q>a
1) The invention that colchicine could be used to double the number of chromosomes is associated

with scientist .........

1) Wilson 2) Morgan 3) Blakeslee 4) Painter

2) OmoS>r Owidm.
a) ‘moZmogmo{‘H$ i) 2n - 1

b) Q´m`gmo{‘H$ ii) 2n + 1

c) Q>oQ´mgmo{‘H$ iii) 2n - 2

d) Ý ẁbmogmo{‘H$ iv) 2n + 2

n`m©¶r CÎmao :
(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iii) (ii) (iv) (i)

3) (i) (ii) (iii) (iv)

4) (i) (ii) (iv) (iii)
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2) Match the pair.

a) Monosomic i) 2n - 1

b) Triosomic ii) 2n + 1

c) Tetrasomic iii) 2n - 2

d) Nullosomic iv) 2n + 2

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iii) (ii) (iv) (i)

3) (i) (ii) (iii) (iv)

4) (i) (ii) (iv) (iii)

3) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
A) dm§{eH$/dmagm H$m`Xm i) Q>r. E‘. ‘m°J©Z
~) MRNA emoY ii) G. J. ‘|S>ob
H$) DNA S>~b ñQ±́S> iii) OoH$~ Am{U ‘moZmoS>
S>) b¢{JH$ g§~§Y iv) dm°Q>gZ Am{U {H«$H$
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (i) (iii) (ii) (iv)

2) (ii) (iii) (iv) (i)

3) (iv) (ii) (i) (iii)

4) (iii) (i) (iv) (ii)

3) Match the following.

a) Law of inheritance i) T. M. Morgan

b) mRNA discovery ii) G. J. Mendel

c) DNA double strand iii) Jacob and Monod

d) Sex linkage iv) Watson and Crick

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (ii) (iv)

2) (ii) (iii) (iv) (i)

3) (iv) (ii) (i) (iii)

4) (iii) (i) (iv) (ii)

4) Imbrb {gÕm§V d¡km{ZH$mer Owidm.
a) O‘©ßbmP‘ {gÕm§V i) øyJmo S>oìharO
b) CËn[adV©Z {gÕm§V ii) Mmëg© S>m{d©Z
c) CËH«$m§VrMm {gÕm§V iii) Am°JñQ> doP‘Z
d) àr’$m°‘}eZ {WAar iv) O°Z ñdm‘aS°>‘
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (ii) (i) (iv)

2) (iv) (ii) (i) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (i) (ii) (iii)
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4) Match the following theories with the scientist.

a) Germ plasm Theory i) Hugo Devries

b) Mutation Theory ii) Charles Darwin

c) Theory of evolution iii) August Weismann

d) Preformation Theory iv) Jan Swammerdam

Answer Options :

(a) (b) (c) (d)

1) (iii) (ii) (i) (iv)

2) (iv) (ii) (i) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (i) (ii) (iii)

5) XmoZ dUmª‘Yrb AZwdm§{eH$ nañnag§~§Ymg H$maUr ŷV H$maUo ......... hr AmhoV
1) pßb`moQ´m°’$s Am{U OZwH$m§‘Yrb g§~§Y 2) dM©ñd Am{U àmUKmVH$ OZwHo$
3) hoQ>oamo{gg Am{U pßb`moQ´m°’$s 4) qbHo$O Am{U ‘ëQ>rnb Ebrb

5) The causes which are responsible for the genetic correlation between two characters are ......

1) Pleotrophy and linkage between genes 2) Dominance and lethal genes

3) Heterosis and pleotrophy 4) Linkage and multiple alleles

6) ............ JwUgyÌm§Zm hbHo$M Ja‘ H$ê$Z {JE‘gm a§OH$mZo a§J{dë¶mda 'G' nÅ>o {Z‘m©U hmoVmV.
1) njmdñWm 2) nydm©dñWm 3) ‘Ü¶mdñWm 4) A§Ë¶mdñWm

6) 'G’ bonds are produced when ...... chromosomes are subjected to mild heat and then stained with

Giemsa reagent.

1) Anaphase 2) Prophase 3) Metaphase 4) Telophase

7) S>moù¶m§Mm a§J nm§T>am AgUmè¶m S´>m°gmo{’$bm À¶m ‘mXrMm, S>moù¶m§Mm a§J bmb AgUmè¶m S´>m°gmo{’$bmÀ¶m Zam ~amo~a g§H$aU
Pmbo, Va Ë¶m§À¶m n{hë¶m F1 {nT>rVrb gd© ‘mXr S´>m°gmo{’$bm§À¶m S>moù¶m§Mm a§J H$moUVm Agob ?
1) nm§T>am 2) bmb
3) bmb Am{U nm§T>am ¶m§Mo {‘lU 4) bmb Am{U {Zim ¶m§Mo {‘lU

7) What will be the eye colour of all female individuals in F1 generation when a white eyed female

Drosophila is crossed with a red eyed male Drosophila?

1) White 2) Red

3) Mixture of Red & White 4) Mixture of Red & Blue

8) ¶wHo$[aAm°{Q>H$ (eukaryotic) noer g§X^m©V JwUgyÌ OZwH$s¶ gm{hË¶ DNA g§~§{YV Imbrb {dYmZm§Mm {dMma H$am.
a) ẁHo$[aAm°{Q>H$ (eukaryotic) noerVrb JwUgyÌm§‘Ü¶o OrZ gm{hË¶ S>r.EZ.E. gmo~V ''{hñQ>moZ'' bKw à{WZo g§b{¾V

AgVmV.
b) ¶m à{WZm§‘Ü¶o AmaOoZrZ d cm`{gZ ¶m ‘yb ŷV A{‘Zmo AmåbmMm OmñV à‘mUmV gh^mJ AgVmo.
c) ¶m à{WZm§‘Ü¶o {Q´ßQ>mo’°Z ¶m ‘yb ŷV AmåbmMm A^md AgVmo.
Imbrbn¡H$s ¶mo½¶ n¶m©¶mMr {ZdS> H$am …
1) ’$º$ n{hbo {dYmZ ~amo~a Amho.
2) darb {VÝhr {dYmZo ~amo~a AmhoV.
3) ’$º$ n{hbo d Xþgao {dYmZ ~amo~a Amho na§Vw {Vgao MyH$ Amho.
4) ’$º$ {Vgao {dYmZ ~amo~a Amho.
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8) With respect to chromosomes in eukaryotic cells regarding DNA as genetic material consider

the following statements.

a) Histones are small proteins associated with chromosomal DNA of eukaryotic cells.

b) These proteins are rich in basic Amino Acids Argenine and Lysine.

c) These protein lack Tryptophan.

Now, choose the correct option :

1) Only first statement is correct.

2) All the above three statements are correct.

3) Only first and second statement is correct but not third.

4) Only third statement is correct.

3) O¡dV§ÌkmZ
1) ^maVmV, OrB© gOrd qH$dm noer Am{U J¡a-OrB© KmVH$ gyú‘Ord Am{U Ë`m§Mr CËnmXZo EPA-1986 A§VJ©V ..........

{Z`‘m§Zwgma {Z §̀{ÌV Ho$br OmVmV.
1) 1987 2) 1988 3) 1989 4) 1986

1) In India, GE organisms or cells and non-GE hazardous microorganisms and products thereof are

regulated as per the Rules ............ under EPA-1986.

1) 1987 2) 1988 3) 1989 4) 1986

2) ............ Zm‘H$ h§Jo[a`Z A{^¶§Î¶mZo "O¡dV§ÌkmZ' hr g§km n{hë¶m§Xm dmnamV AmUbr.
1) H$mb© E[aH$s 2) H$mb© {’$ea 3) H$mb© A~©Z 4) H$mb© bm°Ja’o$ëS>

2) The term ‘Biotechnology’ was first used by an Hungarian engineer named ......

1) Karl Ereky 2) Karl Fischer 3) Karl Urban 4) Karl Lagerfeld

3) Imbrb OmoS>çm Owidm :
A) dZñnVr CVr g§dY©ZmMo OZH$ i) Jwhm Am{U ‘mhoídar
~) dZñnVr {Q>í ỳ H$ëMa ‘r{S>`mMm {dH$mg ii) Jm°Q>br~ h°~ab±S>
H$) namJH$Um§nmgyZ n{hë`m h°ßbm°BS> «̂yUmMr {Z{‘©Vr iii) å ỳEa EQ> Ab
S>) EH$b noernmgyZ n{hbr dZñnVr iv) ‘wam{eJo Am{U ñHy$J
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (ii) (iv) (i) (iii)

4) (iv) (iii) (ii) (i)

3) Match the following pairs :

a) Father of plant tissue culture i) Guha and Maheshwari

b) Development of plant tissue culture media ii) Gottlieb Haberlandt

c) Production of first haploid embryos from pollen grains iii) Muier et al

d) First plant from single cell iv) Murashige and Skoog

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (ii) (iv) (i) (iii)

4) (iv) (iii) (ii) (i)
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4) ............ OZwH$ emoYÊ`mÀ`m V§Ìm‘Ü ò, {d{eï> à{WZo emoYÊ`mgmR>r à{VqnS>m§Mm dmna Ho$bm OmVmo.
1) Oob BboŠQ´mo’$moaogrg 2) X{jUr ãbm°qQ>J 3) Zm°X©Z© ãbm°qQ>J 4) doñQ>Z© ãbm°qQ>J

4) In ............ gene detection technique, antibodies are used to detect specific proteins.

1) Gel electrophoresis 2) Southern blotting

3) Northern blotting 4) Western blotting

5) Imbrbn¡H$s H$moUVo nrgrAma V§Ìm~m~V Iao Zmhr?
1) Vo ObX Am{U ñdñV Amho 2) `mgmR>r ‘moR>çm à‘mUmV DNA Amdí`H$ Amho
3) ho S>rEZEÀ`m BZ-{dQ´mo JwUmH$mam§Zm nadmZJr XoVo 4) ho AË §̀V g§doXZerb Amho

5) Which one of the following is not true regarding PCR technique ?

1) It is fast and unexpensive 2) It requires large amount of DNA

3) It permits in-vitro multiplication of DNA 4) It is extremely sensitive

6) ŠbmoZ‘Yrb {’$ZmoQ>mB{nH$ {^ÞVm nyU©nUo ........... Amho.
1) AZwdm§{eH$ 2) n`m©daUr` 3) ’o$ZmoQ>mB{nH$ 4) CËn[adV©Z

6) Phenotypic variation within the clone is purely ...........

1) Genetic 2) Environmental 3) Phenotypic 4) Mutation

7) gdm©V ¶mo½¶ n¶m©¶ {ZdS>m.
~hþVoH$ gd© dZñnVr D$Vr g§dY©Z øm àH$me g§íbofUmgmR>r ............... AgVmV.
1) g{H«$¶ 2) {ZpîH«$¶ 3) Aj‘ 4) {Z¶§{ÌV

7) Most of plant tissue cultures are photosynthetically ......

1) active 2) inactive 3) incompetent 4) controlled

8) Imbrbn¡H$s H$moUVr nÕV à{V~§{YV E§PmB‘Mm dmna H$aV Zmhr?
1) RAPD 2) RFLP 3) AFLP 4) darbn¡H$s H$mhrhr Zmhr

8) Which of the following method does not make use of restriction enzymes ?

1) RAPD 2) RFLP 3) AFLP 4) None of the above

4) noer M¶mnMZ
1) Imbrbn¡H$s H$moUVr à{H«$¶m ídgZ à{H«$¶oV A§V ŷ©V Zmhr?

1) Ho$pëìhZ gm¶H$b 2) gm¶{Q´>H$ A°{gS> gm¶H$b
3) ½bm¶H$mo{b{gg 4) Bbo³Q´>m°Z Q´>mÝgnmoQ>© MoZ

1) Which among the following is not involved in Respiratory Process?

1) Calvin cycle 2) Citric acid cycle

3) Glycolysis 4) Electron transport chain
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2) Imbrbn¡H$s H$moUVr nm¶ar ídmgmoÀN²>dmg à{H«$¶oVrb Zmhr?
1) ½bwH$moO → ½bwH$moO - 6 - ’$m°ñ’o$Q>
2) ’«w$ŠQ>moO 1 - 6 S>m¶’$m°ñ’o$Q> → ’«w$ŠQ>moO - 6 - ’$m°ñ’o$Q>
3) ’«w$ŠQ>moO - 6 - ’$m°ñ’o$Q> → ’«w$ŠQ>moO 1, 6 - ’$m°ñ’o$Q>
4) 1 - 3 S>m¶ nrOrE → 3 nrOrE

2) Which one of the following is not an intermediate step in Respiration?

1) Glucose → glucose - 6 - phosphate

2) Fructose 1-6 diphosphate → Fructose - 6 - phosphate

3) Fructose - 6 - phosphate → Fructose 1, 6 - phosphate

4) 1 - 3 di PGA → 3 PGA

3) {ÛVr¶H$ M¶mnM{¶V CËnmXZmÀ¶m {Z{‘©VrgmR>r ........... ¶m nÕVrMo bjUr¶ ¶moJXmZ Amho.
1) YZ nÕVrMo ~m¶moàmogog 2) gwQ>çm noetMo {Zc§{~V g§dY©Z
3) n¥ð>Vb AMb dZñnVr noer 4) T>dioë¶m Q>mH$sMo [aA°³Q>a

3)  ...... method is the most significant contribution in secondary metabolite production.

1) Solid state bioprocess 2) Free cell suspension culture

3) Surface immobilised plant cells 4) Stirred tank reactors

4) Oa XmoZ noer A Am{U B EH$‘oH$m§À`m g§nH$m©V AgVrb, Va gob A ‘Ü ò 4 nQ²>Q>çm§Mr Xm~ j‘Vm AgVo Am{U Ë`mV
- 12 nQ²>Q>çm§À`m Am°ñ‘mo{Q>H$ nmoQ>|{eAbgh g°n AgVmo. gob B ‘Ü ò 2 nQ²>Q>çm§Mr Xm~ j‘Vm Amho Am{U Ë`mV
Am°ñ‘mo{Q>H$ j‘Vm - 5 nQ²>Q>çm§gh ag Amho, Z§Va nmUr ..... òWyZ nwT>o OmB©b.
1) gob B Vo gob A 2) gob A Voo gob B
3) gob A Voo ~mø dmVmdaU 4) darbn¡H$s H$mhrhr Zmhr

4) If two cells A and B are in contact with each other, the cell A has a pressure potential of 4 bars and

contains sap with an osmotic potential of — 12 bars. Cell B has pressure potential of 2 bars and

contains sap with osmotic potential of — 5 bars, then water will move from .....

1) Cell B to cell A 2) Cell Ato cell B

3) Cell A to outer atmosphere 4) None of the above

5) gyú‘Ord
1) ìhm¶am°B©S²>g Imbrbn¡H$s H$moUË¶m VrZ {deof JwUY‘m©Ûmao AmoiIë¶m OmVmV ?

a) {dfmUwnojm AmH$mamZo ~aoM bhmZ AgUo
b) JmobmH$ma am¶~moÝ¶w³brH$ A°grS> (RNA) aoUw Zo ~Zbobo
c) RNA aoUw àWrZ (àmoQ>rZ) AmdaUmZo AmÀN>m{XV H$aUo
d) nmXn noer (dZñnVr noer) g§H«${‘V H$aUo
n¶m©¶r CÎmao …
1) (a), (b), (d) 2) (a), (b), (c) 3) (a), (c), (d) 4) (b), (c), (d)

1) Viroids are identified on the basis of which of the following three characteristic features?

a) Much smaller in size than viruses b) Consist of circular RNA molecule

c) RNA molecule covered by protein coat d) Infect the plant cells

Answer Options :

1) (a), (b), (d) 2) (a), (b), (c) 3) (a), (c), (d) 4) (b), (c), (d)
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2) ................ Ord íboî‘mgmaIm nm°{bgoHo$amBS> òm{dV H$aVmo Oo {d{dY OrdmUy§À`m àOmVtZm OmoS>Ê`mgmR>r n¥ð>^mJ
{’$ëQ>a H$aÊ`mgmR>r Am{U gm§S>nmUr à{H«$ ò‘Ü ò âbm°H$ V`ma H$aÊ`mg ‘XV H$aVo.
1) Zoogloea ramigera 2) Aerobacter aerogenes

3) EgrQ>mo~°ŠQ>a EgrQ>r 4) ~°{gbg g~{Q>{bg
2) ................ organism secerets a mucous-like polysaccharide which helps in the attachment of various

bacterial species to filter surfaces and floc formation in sewage treatment.

1) Zoogloea ramigera 2) Aerobacter aerogenes

3) Acetobacter aceti 4) Bacillus subtilis

3) Imbrbn¡H$s H$moUË`m gyú‘Ordm‘Ü ò A°ñQ>°Šg°pÝWZ a§JÐì` AgVo?
1) Saccharomyces cerevisiae 2) Aspergillus oryzae

3) ’$m{’$`m amoS>moPm`‘m 4) H°$pÝS>S>m Apë~H$Ýg
3) Which of the following microorganism contains astaxanthin pigment ?

1) Saccharomyces cerevisiae 2) Aspergillus oryzae

3) Phaffia rhodozyma 4) Candida albicans
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(7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo,
àmUr eara{dkmZ

1) àmÊ`m§Mo dJuH$aU

1-4 2-3 3-2

2) Am{XOrd, ñn§O, Obì¶mb àmUr

1-3 2-1 3-4

3) MnQ>H¥$‘r, JmobH¥$‘r, db¶m§{H$V àmUr

1-3

4) g§YrnmX, ‘¥XþH$m¶, H§$Q>H$sM‘u, AY©n¥ð>d§er¶ àmUr

1-3 2-1 3-2 4-2

5) ‘Ëñ¶dJ©, C^¶Ma, garg¥n

1-3 2-3 3-1 4-4

6) njr, gñVZ àmUr

1-2 2-1 3-4

7) àmÊ¶m§Mo eara d M¶mnM¶Z

1-4 2-3 3-2 4-1 5-4 6-1
7-3 8-3 9-2 10-2 11-2 12-2
13-3

(8) Cn ẁº$ Am{U hmZrH$maH$ àmUr

1) Cn¶wº$ àmUr

1-2 2-2 3-1

2) hmZrH$maH$ àmUr

1-1 2-2 3-2 4-2 5-4 6-3
7-1 8-2 9-3

3) àmÊ¶m§Mo AmOma d H$maH$ KQ>H$

1-1 2-4 3-1

(9) dZñnVtMo dJuH$aU Am{U CXmhaUo,
dZñnVtMo earaemó

1) dZñnVtMo dJuH$aU

1-2 2-2 3-2 4-2

2) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>

1-2 2-2

3) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr

1-4 2-4 3-2

4) dZñnVtMo earaemó

1-4 2-2 3-1 4-1 5-4

5) dZñnVtMo nmofU

1-3 2-3 3-4 4-2 5-1 6-4
7-1

6) dZñnVtMo M¶mnM¶Z

1-3 2-4 3-2 4-3

(10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

1) Cn ẁº$ dZñnVr

1-2 2-3 3-4 4-3 5-4 6-3
7-2 8-2 9-1 10-3

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ
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2) hm{ZH$maH$ dZñnVr

1-2 2-3 3-1 4-2

3) dZñnVtMo AmOma

1-1 2-3 3-3

4) dZñnVrOÝ¶ Am¡fYo d agm¶Zo

1-4 2-1 3-1 4-2 5-1 6-4

5) dZì¶dñWmnZ

1-2 2-4 3-2 4-2 5-4 6-4
7-2 8-4

(11) A°J«moBH$mobm°Or - g|{Ð  ̀eoVr, {nHo$ Am{U
g§H$[aV OmVr, nmUr ì`dñWmnZ

1) A°J«moBH$mobm°Or d H¥$frì¶dñWmnZ

1-2 2-3 3-2 4-3 5-2 6-3

2) nrH$m§Mr dmT>, nmofU, amoJ, VUo, IVo, H$sQ>H$ZmeHo$

1-1 2-4 3-2 4-3 5-1 6-2
7-1 8-2 9-1 10-2 11-3 13-3
14-3 15-3 16-1 17-4 18-1

3) {nHo$, g§H$[aV d OZwH$s¶ OmVr

1-2 2-2 3-1 4-3

4) ŷg§YmaU d ‘emJV V§ÌkmZ

1-1 2-3 3-1 4-4 5-3 6-2
7-1 8-3 9-3 10-2 11-2 12-3
13-2

5) Obg§YmaU d nmUr ì`dñWmnZ

1-3 2-3 3-2 4-1 5-1 6-2
7-2 8-1 9-4 10-4 11-4 12-2
13-4 14-3 15-4

(12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`,
Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

1) newnmbZ d Xw½Yì`dgm`

1-1 2-3 3-3 4-1 5-4 6-2

7-1 8-1 9-1 10-2 11-4 12-4
13-4 14-3

2) Hw$ w̧$Q>nmbZ

1-4 2-2 3-4 4-3

3) ‘Ëñ¶ì¶dgm¶

1-4 2-4

4) ’$bmoËnmXZ

1-2 2-1 3-2 4-2 5-2 6-4
7-4

(13) noer{dkmZ d M¶mnM¶Z

1) noer d noerKQ>H$

1-2 2-3

2) OZwHo$, a§JgyÌo d AZwdm§{eH$Vm

1-3 2-4 3-2 4-3 5-1 6-3
7-2 8-2

3) O¡dV§ÌkmZ

1-3 2-1 3-3 4-4 5-2 6-2
7-3 8-1

4) noer M¶mnMZ

1-1 2-2 3-3 4-1

5) gyú‘Ord

1-1 2-1 3-3


